
MATHS

BOOKS - BEYOND PUBLICATION

SETS

Example

1. List the teeth of the Incisors

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pvamZpQdImM8


2. List the teeth of the Canines

Watch Video Solution

https://dl.doubtnut.com/l/_ouE3mrtQHfXj


3.  


List the teeth under each of the following type

Pre-molars

Watch Video Solution

https://dl.doubtnut.com/l/_x3GYzF2UQdJh
https://dl.doubtnut.com/l/_rHz2mvy2Btbd


4.  


List the teeth under each of the following type

molars

Watch Video Solution

https://dl.doubtnut.com/l/_rHz2mvy2Btbd


5. Identify and write the common property" of

the following collections. 

2,4,6,8,…..

Watch Video Solution

6. Identify and write the common property" of

the following collections. 

2,3,5,7,11,…..

Watch Video Solution

https://dl.doubtnut.com/l/_rkzXzR2sIyGi
https://dl.doubtnut.com/l/_Z1sr2Ooji9gY
https://dl.doubtnut.com/l/_K5VpJJh8Tfej


7. Identify and write the common property" of

the following collections. 

1,4,9,16,….

Watch Video Solution

8. Identify and write the common property" of

the following collections. 

January, February, March, April……

Watch Video Solution

https://dl.doubtnut.com/l/_K5VpJJh8Tfej
https://dl.doubtnut.com/l/_cKSzbuK58MVr
https://dl.doubtnut.com/l/_a0fo3XtWuiJk


9. Identify and write the common property" of

the following collections. 

Thumb,index finger, middle finger, ring finger,

little finger

Watch Video Solution

10. Write the following sets: 

Set of the first five positive integers.

Watch Video Solution

https://dl.doubtnut.com/l/_a0fo3XtWuiJk
https://dl.doubtnut.com/l/_tXUSKTPtNWHS


11. Write the following sets: 

Set of multiple of 5 which are more than 100

and less than 125.

Watch Video Solution

12. Write the following sets: 

Set of first five cubic numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_2BQnLVRtYGDd
https://dl.doubtnut.com/l/_ywLlzzjQfCJf


13. Write the following sets: 

Set of digits in the Ramanujan number.

Watch Video Solution

14. Some numbers are given below. Decide the

number of which number sets they belong to

and does not belong to and express with

correct symbols. 

1

Watch Video Solution

https://dl.doubtnut.com/l/_YJgHWYvJCzd8
https://dl.doubtnut.com/l/_6lJHm5Mn0IUU


15. Some numbers are given below. Decide the

numbers to which number sets they belong to

and does not belong to and express with

correct symbols. 

0

Watch Video Solution

16. Some numbers are given below. Decide the

numbers to which number sets they belong to

and does not belong to and express with

https://dl.doubtnut.com/l/_6lJHm5Mn0IUU
https://dl.doubtnut.com/l/_F0lEYTyonMRU
https://dl.doubtnut.com/l/_4ZH9SeMBvbAv


correct symbols. 

-4

Watch Video Solution

17. Some numbers are given below. Decide the

numbers to which number sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

5

6

https://dl.doubtnut.com/l/_4ZH9SeMBvbAv
https://dl.doubtnut.com/l/_TXjfoSd0xrSr
https://dl.doubtnut.com/l/_bY83EhZahU8W


18. Some numbers are given below. Decide the

numbers to which number sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

1. 3̄

19. Some numbers are give below. Decide the

numbers to which numbers sets they belong

to and does not belong to and express with

https://dl.doubtnut.com/l/_bY83EhZahU8W
https://dl.doubtnut.com/l/_fDJ5dXo6eXV2


correct symbols. 

Watch Video Solution

√2

20. Some numbers are given below. Decide the

number of which number sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

log 21

https://dl.doubtnut.com/l/_fDJ5dXo6eXV2
https://dl.doubtnut.com/l/_NcRUABCHqieG
https://dl.doubtnut.com/l/_bLDmvW4OjdCm


21. Some numbers are given below. Decide the

numbers to which number sets they belong to

and does not belong to and express with

correct symbols. 

0.03

Watch Video Solution

22. Some numbers are given below. Decide the

numbers to which number sets they belong to

and does not belong to and express with

https://dl.doubtnut.com/l/_bLDmvW4OjdCm
https://dl.doubtnut.com/l/_5xEBALD1UNZ8


correct symbols. 

Watch Video Solution

π

23. Some numbers are given below. Decide the

numbers to which number sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

√ − 4

https://dl.doubtnut.com/l/_5xEBALD1UNZ8
https://dl.doubtnut.com/l/_YeSfntOLChcR
https://dl.doubtnut.com/l/_fRU8Hn2wGLeD


24. List the elements of the following sets. 

G={all the factors of 20}

Watch Video Solution

25. List the elements of the following sets. 

F={ the multiples of 4 between 17 and 61 which

are divisible by 7}

Watch Video Solution

https://dl.doubtnut.com/l/_fRU8Hn2wGLeD
https://dl.doubtnut.com/l/_V0BA0rMyhXOX


26. List the elements of the following sets. 

S={x:x is a letter in a word 'MADAM'}

Watch Video Solution

27. List the elements of the following sets. 

P={x:x is a whole number between 3.5 and 6.7}

Watch Video Solution

https://dl.doubtnut.com/l/_vOah9gQ7TIFX
https://dl.doubtnut.com/l/_EwNrEG9GrzAR


28. Write the following sets in the roster form. 

B is the set of all months in a year having 30

days.

Watch Video Solution

29. Write the following sets in the roster form. 

P is the set of all prime numbers smaller than

10.

Watch Video Solution

https://dl.doubtnut.com/l/_QJCNQ6N4gXca
https://dl.doubtnut.com/l/_NM4T4B4GpDVh
https://dl.doubtnut.com/l/_v5iZA0NsSifD


30. Write the following sets in the roster form.

X is the set of the colours of the rainbow.

Watch Video Solution

31. A is the set of factors of 12. Which one of

the following is not a member of A?

Watch Video Solution

https://dl.doubtnut.com/l/_v5iZA0NsSifD
https://dl.doubtnut.com/l/_iwWrRr7eH6KC


32. A is the set of factors of 12. Which one of

the following is not a member of A?

Watch Video Solution

33. A is the set of factors of 12. Which one of

the following is not a member of A?

Watch Video Solution

https://dl.doubtnut.com/l/_NXp96bDqpFyP
https://dl.doubtnut.com/l/_MZvelXnCBieZ


34. A is the set of factors of 12. Which one of

the following is not a member of A?

Watch Video Solution

35. Observe the following collections and,

prepare as many generalized statements as

possible by describing their properties: 2, 4, 6,

8, ...

Watch Video Solution

https://dl.doubtnut.com/l/_APrG8jHVM4MC
https://dl.doubtnut.com/l/_c4hZtfpMBEAS
https://dl.doubtnut.com/l/_qgHMCT09IwA6


36. Observe the following collections and

prepare as many as generalized statements

you can describing their move properties. 

1,4,9,16……

Watch Video Solution

37. Can you write set of rational numbers

listing elements in it?

Watch Video Solution

https://dl.doubtnut.com/l/_qgHMCT09IwA6
https://dl.doubtnut.com/l/_d4y6t8X9mA9c
https://dl.doubtnut.com/l/_QJpDOJZdm00u


38. Write some sets of your choice, involving

algebraic and geometrical ideas.

Watch Video Solution

39. Which of the following are sets? Justify

your answer. 

The collection of all months of a year

beginning with the letter ''J"

Watch Video Solution

https://dl.doubtnut.com/l/_QJpDOJZdm00u
https://dl.doubtnut.com/l/_SxfjGgAcXqLy


40. Which of the following are sets? Justify

your answer. 

The collection of ten most talented writers of

India.

Watch Video Solution

41. Which of the following are sets? Justify

your answer. 

A team of eleven best cricket batsmen of the

world.

https://dl.doubtnut.com/l/_QWsiQ8lo6STi
https://dl.doubtnut.com/l/_ITeDmIkOTeuN


Watch Video Solution

42. Which of the following are sets? Justify

your answer. 

The collection of all boys in your class.

Watch Video Solution

43. Which of the following are sets? Justify

your answer. 

The collection of all even integers.

Watch Video Solution

https://dl.doubtnut.com/l/_ITeDmIkOTeuN
https://dl.doubtnut.com/l/_4Mfy4jUqEG8p
https://dl.doubtnut.com/l/_I7iAml4YMFsZ


44. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the

blanks. 

0…………A

Watch Video Solution

∈ ∉

45. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the∈ ∉

https://dl.doubtnut.com/l/_I7iAml4YMFsZ
https://dl.doubtnut.com/l/_ayXUdaMnaf7w
https://dl.doubtnut.com/l/_i7TAJRLAn07K


blanks. 

3………..C

Watch Video Solution

46. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the

blanks. 

4………….B

Watch Video Solution

∈ ∉

https://dl.doubtnut.com/l/_i7TAJRLAn07K
https://dl.doubtnut.com/l/_sqTHz52b5Jew


47. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the

blanks. 

8……………A

Watch Video Solution

∈ ∉

48. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the

blanks. 

p……………….C

∈ ∉

https://dl.doubtnut.com/l/_HqbPTKPsJBZb
https://dl.doubtnut.com/l/_5cgbn4gSr78E


Watch Video Solution

49. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the

blanks. 

7…………….B

Watch Video Solution

∈ ∉

50. Express the following statements using

symbols. 

The elements 'X' does not belong to 'A'.

https://dl.doubtnut.com/l/_5cgbn4gSr78E
https://dl.doubtnut.com/l/_ja3Pwvm4WlrT
https://dl.doubtnut.com/l/_hhRQUEg2w0NZ


Watch Video Solution

51. Express the following statements using

symbols. 

'd' is an element of the set'B'

Watch Video Solution

52. Express the following statements using

symbols. 

'I' belongs to the set of Natural numbers N.

https://dl.doubtnut.com/l/_hhRQUEg2w0NZ
https://dl.doubtnut.com/l/_YhzARer5KJ6O
https://dl.doubtnut.com/l/_tcfoEKdBFphT


Watch Video Solution

53. Express the following statements using

symbols. 

'8' does not belong to the set of prime

numbers P.

Watch Video Solution

54. State which of the following statements

are true. 

{} = ϕ

https://dl.doubtnut.com/l/_tcfoEKdBFphT
https://dl.doubtnut.com/l/_iPWbW7qbyugO
https://dl.doubtnut.com/l/_vbzznf57b5iU


Watch Video Solution

55. State whether the following statements

are true or false. Justify your answer. 

S={5,6,7} implies 8  S.

Watch Video Solution

∈

56. State whether the following statements

are true or false. Justify your answer. 

-5  W where 'W' is the set of whole numbers.∉

https://dl.doubtnut.com/l/_vbzznf57b5iU
https://dl.doubtnut.com/l/_Ytbw0phdjxR7
https://dl.doubtnut.com/l/_cBVtAt02cTIT


Watch Video Solution

57. State whether the following statements are

true or false. Justify your answer. 

Watch Video Solution

∈ Z
8

11

58. Write the following sets is roster form. 

B={x:x is a natural number smaller than 6}.

Watch Video Solution

https://dl.doubtnut.com/l/_cBVtAt02cTIT
https://dl.doubtnut.com/l/_BUPGGRgiw5Zw
https://dl.doubtnut.com/l/_INe7e1QbTfcf


59. Write the following sets is roster form. 

C={x:x is a two-digit natural number such that

the sum of its digits is 8}.

Watch Video Solution

60. Write the following sets in roster form: 

D = {x : x is a prime number which is divisor of

60}

Watch Video Solution

https://dl.doubtnut.com/l/_eYX6dMx2rTzf
https://dl.doubtnut.com/l/_9ony3qQxwAkF
https://dl.doubtnut.com/l/_MW0shFpohnSg


61. Write the following sets in roster form: 

E = The set of all letters in the word

TRIGONOMETRY

Watch Video Solution

62. Write the following sets in the set-builder

form. 

{3,6,9,12}

Watch Video Solution

https://dl.doubtnut.com/l/_MW0shFpohnSg
https://dl.doubtnut.com/l/_kjhxlR6GrgEJ
https://dl.doubtnut.com/l/_n8iEKxvItZ0C


63. Write the following sets in the set-builder

form. 

{2,4,8,16,32}

Watch Video Solution

64. Write the following sets in the set-builder

form. 

{5,25,125,625}

Watch Video Solution

https://dl.doubtnut.com/l/_n8iEKxvItZ0C
https://dl.doubtnut.com/l/_4NOT299hHK40


65. Write the following sets in the set-builder

form. 

{1,4,9,16,25,…….,100}

Watch Video Solution

66. Write the following sets in roster-form. 

A={x:x is a natural number greater than 50 but

smaller than 100}

Watch Video Solution

https://dl.doubtnut.com/l/_kIRvOw4L29qU
https://dl.doubtnut.com/l/_PyvshdqBgdHk
https://dl.doubtnut.com/l/_72KqzUHi7hou


67. Write the following sets in roster-form. 

B={x:x is an integer, }

Watch Video Solution

x2 = 4

68. Write the following sets in roster-form. 

D={x:x is a letter in the word "LOYAL"}

Watch Video Solution

https://dl.doubtnut.com/l/_72KqzUHi7hou
https://dl.doubtnut.com/l/_oJEb4P94L4Ko


69. A={1,2,3,4}, B={2,4}, C={1,2,3,4,7}, F={}. 

Fill in the blanks with  


(i) A.....b (ii) C....A (iii) B....A 

(iv) A.....C (v) B.....C (vi) 

Watch Video Solution

⊂ or ⊂

ϕ...B

70. A={1,2,3,4}, B={2,4}, C={1,2,3,4,7}, F={}. 

Fill in the blanks with  


(i) A.....b (ii) C....A (iii) B....A 

(iv) A.....C (v) B.....C (vi) 

⊂ or ⊂

ϕ...B

https://dl.doubtnut.com/l/_rsjDwOTSUXnR
https://dl.doubtnut.com/l/_hhDw8cCTQCje


Watch Video Solution

71. A={1,2,3,4}, B={2,4}, C={1,2,3,4,7}, F={}. 

Fill in the blanks with  


(i) A.....b (ii) C....A (iii) B....A 

(iv) A.....C (v) B.....C (vi) 

Watch Video Solution

⊂ or ⊂

ϕ...B

72. A={1,2,3,4}, B={2,4}, C={1,2,3,4,7}, F={}. 

Fill in the blanks with  
⊂ or ⊂

https://dl.doubtnut.com/l/_hhDw8cCTQCje
https://dl.doubtnut.com/l/_zIOyCjIs4ZLK
https://dl.doubtnut.com/l/_gzwZWi5TxhEx


(i) A.....b (ii) C....A (iii) B....A 

(iv) A.....C (v) B.....C (vi) 

Watch Video Solution

ϕ...B

73. A={1,2,3,4}, B={2,4}, C={1,2,3,4,7}, F={}. 

Fill in the blanks with  


(i) A.....b (ii) C....A (iii) B....A 

(iv) A.....C (v) B.....C (vi) 

Watch Video Solution

⊂ or ⊂

ϕ...B

https://dl.doubtnut.com/l/_gzwZWi5TxhEx
https://dl.doubtnut.com/l/_KUEFbCMbRFvP


74. A = {1,2,3,4}, B = {2,4}, C={1,2,3,4,7} ,F = {} 

Fill in the blanks with  or . 


F…..B

Watch Video Solution

⊂ ⊂

75. State which of the following statements

are true. 

Watch Video Solution

{} = ϕ

https://dl.doubtnut.com/l/_yLZ2gpawGf19
https://dl.doubtnut.com/l/_iUvM2pHozmYg
https://dl.doubtnut.com/l/_KZ8rDiH5RDcE


76. Which of the following statements are true

Watch Video Solution

77. State which of the following statement are

true. 

(i)  (ii)  (iii) 

Watch Video Solution

{} = ϕ ϕ = 0 0 = {0}

78. Let A={1,3,7,8} and B={2,4,7,9} Find .A ∩ B

https://dl.doubtnut.com/l/_KZ8rDiH5RDcE
https://dl.doubtnut.com/l/_0SI9bquAatMr
https://dl.doubtnut.com/l/_SRCOPmdiLNpz


Watch Video Solution

79. If A={6,9,11}, B={}. Find .

Watch Video Solution

A ∪ ϕ

80. A={1,2,3,4,5,6,7,8,9,10}, B={2,3,5,7}. Find A B

and show that =B.

Watch Video Solution

∩

A ∩ B

https://dl.doubtnut.com/l/_SRCOPmdiLNpz
https://dl.doubtnut.com/l/_w3JmN6SflmGE
https://dl.doubtnut.com/l/_SYGfuKRZJiaO


81. If A = {4, 5, 6}, B = {7, 8}, then show that

.

Watch Video Solution

A ∪ B = B ∪ A

82. IF A={1,2,3,4,5}, B={4,5,6,7}, then find A-B and

B-A. Are they equal?

Watch Video Solution

https://dl.doubtnut.com/l/_grot3pA0Yx3u
https://dl.doubtnut.com/l/_e1OqrxrFGOyB


83. IF V={a,e,I,o,u) and B={a,o,k,u}, find V-B and B-

V.

Watch Video Solution

84. A={set of quadrilaterals}, B={square,

rectangle, trapezium, rhombus}. 

State whether  or . Justify your

answer.

Watch Video Solution

A ⊂ B B ⊂ A

https://dl.doubtnut.com/l/_8Sq1tkIbwA0j
https://dl.doubtnut.com/l/_sMCxW3MJHlp4
https://dl.doubtnut.com/l/_HyXEeDjV3O6c


85. If A={a,b,c,d}. How many subsets does the

set A have?

A. 5

B. 6

C. 16

D. 65

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HyXEeDjV3O6c


86. P is the set of factors of 5, Q is the set of

factors of 25 and R is the set of factors of 125.

Which one of the following is false?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P ⊂ Q

Q ⊂ R

R ⊂ P

P ⊂ R

https://dl.doubtnut.com/l/_L1hJtCgXXsyM


87. A is the set of prime numbers smaller than

10, B is the set of odd number  10 and C is

the set of even number  10. How many of

the following statements are true? 

(i)  (ii)  (iii)  (iv)  (v) 

 (vi) 

Watch Video Solution

<

<

A ⊂ B B ⊂ A A ⊂ C C ⊂ A

B ⊂ C C ⊂ B

88. List out some sets A and B and choose

their elements such that A and B are disjoint.

https://dl.doubtnut.com/l/_bqc22GIiZKaF
https://dl.doubtnut.com/l/_XYls7U8tYBk2


Watch Video Solution

89. IF A={2,3,5}, find  and  and

compare.

Watch Video Solution

A ∪ ϕ ϕ ∪ A

90. IF A={1,2,3,4},B={1,2,3,4,5,6,7,8}, then find

.What do you notice about the

result?

Watch Video Solution

A ∪ B, A ∩ B

https://dl.doubtnut.com/l/_XYls7U8tYBk2
https://dl.doubtnut.com/l/_TCrfhXe0GzMV
https://dl.doubtnut.com/l/_BBhLc57pTnkj


91. A={1,2,3,4,5,6}, B={2,4,6,8,10}. Find the

intersection of A and B.

Watch Video Solution

92. Is empty set subset to every set?

Watch Video Solution

93. Is any set subset to itself?

Watch Video Solution

https://dl.doubtnut.com/l/_OCmEosA1vLhS
https://dl.doubtnut.com/l/_3F2QkIGlFhEt
https://dl.doubtnut.com/l/_cr2hyCW6tG6b


94. You are given two sets such that a set is

not a subset of the other. If you have to prove

this , how do you prove?

Watch Video Solution

95. The intersection of any two disjoint sets is

a null set. Justify your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_cr2hyCW6tG6b
https://dl.doubtnut.com/l/_soeW5DRLkoYx
https://dl.doubtnut.com/l/_jvNalbsZPa7s
https://dl.doubtnut.com/l/_1MytNt4zS4y8


96. The sets A-B, B-A and  are mutually

disjoint sets. Use examples to observe if this is

true.

Watch Video Solution

A ∩ B

97. Let A={2,5,6,8} and B={5,7,9,1}. Find 

Watch Video Solution

A ∪ B

https://dl.doubtnut.com/l/_1MytNt4zS4y8
https://dl.doubtnut.com/l/_EvFPiQ6EzHri


98. Let A={a,e,i,o,u} and B={a,i,u}. Show that

.

Watch Video Solution

A ∪ B = A

99. If A={1,2,3,4} and B={2,4,6,8}. Find 

Watch Video Solution

A ∪ B

100. Find  when A = {5, 6, 7, 8} and B = {7,

8, 9, 10}.

A ∩ B

https://dl.doubtnut.com/l/_E3WTpQDgxFzZ
https://dl.doubtnut.com/l/_bwxH2AfpJWyB
https://dl.doubtnut.com/l/_BSHPDM69l4i1


Watch Video Solution

101. IF A={1,2,3} and B={3,4,5}, then Illustrate

 in Venn-diagrams.

Watch Video Solution

A ∩ B

102. Let A={1,2,3,4,5},B={4,5,6,7}. Find A-B.

Watch Video Solution

https://dl.doubtnut.com/l/_BSHPDM69l4i1
https://dl.doubtnut.com/l/_iQB5aITJEC6U
https://dl.doubtnut.com/l/_HtGo9QgkEgRQ


103. If A = {1, 2, 3, 4}, B = {1, 2, 3, 5, 6}, then find

 and . Are they equal ?

Watch Video Solution

A ∩ B B ∩ A

104. If A={0,2,4}, find .

Comment.

Watch Video Solution

A ∩ ϕ and A ∩ A

https://dl.doubtnut.com/l/_3KKRUElPEwmX
https://dl.doubtnut.com/l/_VymLtXJZ1bs1


105. IF A={2,4,6,8,10} and B={3,6,9,12,15}, find A-B

and B-A.

Watch Video Solution

106. IF A and B are two sets such that 

then, What is ?

Watch Video Solution

A ⊂ B

A ∪ B

https://dl.doubtnut.com/l/_0oA7dYcOcUqT
https://dl.doubtnut.com/l/_0baRzvPZsaZv


107. If A = {  is a natural number }, B = {

is an even natural number} 

C = {  is an odd natural number} and D = {

 is a prime number }, find 


Watch Video Solution

x : x x : x

x : x

x : x

C ∩ D

108. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

https://dl.doubtnut.com/l/_YXytSQ9OqU3R
https://dl.doubtnut.com/l/_6lCyFJTdENQ4


(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

109. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

https://dl.doubtnut.com/l/_6lCyFJTdENQ4
https://dl.doubtnut.com/l/_IhxmGzS3JiHo


110. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

111. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

https://dl.doubtnut.com/l/_K8b7Om6Ds3Vb
https://dl.doubtnut.com/l/_UvoLhgzts0tM


Watch Video Solution

112. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

113. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

https://dl.doubtnut.com/l/_UvoLhgzts0tM
https://dl.doubtnut.com/l/_aVh0J8w0htXl
https://dl.doubtnut.com/l/_4BhhlZcOurkz


(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

114. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

https://dl.doubtnut.com/l/_4BhhlZcOurkz
https://dl.doubtnut.com/l/_hrUoIrFIhIMV


115. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

116. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

https://dl.doubtnut.com/l/_YWOsTifDTE4Z
https://dl.doubtnut.com/l/_7aEK7lxZadFN


Watch Video Solution

117. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

118. State whether each of the following

statement is true or false. Justify your answers.

{2,3,4,5} and {3,6} and disjoint sets.

https://dl.doubtnut.com/l/_7aEK7lxZadFN
https://dl.doubtnut.com/l/_i7NzusXYVw6d
https://dl.doubtnut.com/l/_tukpFxLQXc4b


Watch Video Solution

119. State whether each of the following

statement is true or false. Justify your answers.

{a,e,I,o,u} and {a,b,c,d} are disjoint sets.

Watch Video Solution

120. State whether each of the following

statement is true or false. Justify your answers.

{2,6,10,14} and {3,7,11,15} are disjoint sets.

https://dl.doubtnut.com/l/_tukpFxLQXc4b
https://dl.doubtnut.com/l/_oAmRBA2lUSNw
https://dl.doubtnut.com/l/_i1clC6nayuAx


Watch Video Solution

121. State whether each of the following

statement is true or false. Justify your answers.

{2,6,10} and {3,7,11} are disjoint sets.

Watch Video Solution

122. IF A={p,q,r} and B={q,p,r), then check

whether A=B or not.

Watch Video Solution

https://dl.doubtnut.com/l/_i1clC6nayuAx
https://dl.doubtnut.com/l/_KtNOLl5rxxzn
https://dl.doubtnut.com/l/_j5hOrq7GvTZS


123. IF A={1,2,3….} and N is a set of natural

numbers, then check whether A and N are

equal?

Watch Video Solution

124. Consider the sets A={p,q,r,s} and B={1,2,3,4}.

Are they equal?

Watch Video Solution

https://dl.doubtnut.com/l/_aZUPx4B5qedG
https://dl.doubtnut.com/l/_thH8gQYPzegm


125. Let A be the set of prime numbers smaller

than 6 and p the set of prime factors of 30.

Check if A and P are equal.

Watch Video Solution

126. Show that the sets A and B are equal,

where 

A = { x: x is a letter in the word} 

B = {x : x is a letter in the word}

Watch Video Solution

https://dl.doubtnut.com/l/_w8yimrvnmEvv
https://dl.doubtnut.com/l/_wv2qCCFVJeMe


127. Consider the sets  A={1,3}, B={1,5,9}, C=

{1,3,5,7,9}. Insert the symbol or 

between each of the following pair of sets. 

Watch Video Solution

ϕ

⊂ ⊂

ϕ……………B

128. Consider the sets  A={1,3}, B={1,5,9}, C=

{1,3,5,7,9}. Insert the symbol or 

between each of the following pair of sets. 

A……………B

ϕ

⊂ ⊂

https://dl.doubtnut.com/l/_wv2qCCFVJeMe
https://dl.doubtnut.com/l/_Je80MaNYVQi9
https://dl.doubtnut.com/l/_XPP08AIQfJAG


Watch Video Solution

129. Consider the sets  A={1,3}, B={1,5,9}, C=

{1,3,5,7,9}. Insert the symbol or 

between each of the following pair of sets. 

A……………….C

Watch Video Solution

ϕ

⊂ ⊂

130. Consider the sets  A={1,3}, B={1,5,9}, C=

{1,3,5,7,9}. Insert the symbol or 

ϕ

⊂ ⊂

https://dl.doubtnut.com/l/_XPP08AIQfJAG
https://dl.doubtnut.com/l/_eE6aGgfuof1P
https://dl.doubtnut.com/l/_1Ao9F3AfiIcV


between each of the following pair of sets. 

B……………….C

Watch Video Solution

131. Which of the following sets are equal? 

A={x : x is a letter in the word FOLLOW}, B={x : x

is a letter in the word FLOW} and C={x : x is a

letter in the word WOLF}

Watch Video Solution

https://dl.doubtnut.com/l/_1Ao9F3AfiIcV
https://dl.doubtnut.com/l/_hVev395qSqUK


132. Which of the following sets are equal? 

A={x : x is a letter in the word FOLLOW}, B={x : x

is a letter in the word FLOW} and C={x : x is a

letter in the word WOLF}

Watch Video Solution

133. Which of the following sets are equal? 

A={x : x is a letter in the word FOLLOW}, B={x : x

is a letter in the word FLOW} and C={x : x is a

letter in the word WOLF}

https://dl.doubtnut.com/l/_Sz0sEFLFweup
https://dl.doubtnut.com/l/_zGkv1vyIlG6A


Watch Video Solution

134. Consider the following sets and fill up the

blanks in the statement given below with = or

 so as to make the statement true. 


A={1,2,3} 

B={the first three natural numbers), 

C={a,b,c,d} 

D={d,c,a,b}, 

E={a,e,I,o,u}, 

F={ Set of words in English Alphabet} 

A......B

≠

https://dl.doubtnut.com/l/_zGkv1vyIlG6A
https://dl.doubtnut.com/l/_oU0FBWucHmPh


Watch Video Solution

135. Consider the following sets and fill up the

blanks in the statement given below with = or

 so as to make the statement true. 


A={1,2,3} 

B={the first three natural numbers), 

C={a,b,c,d} 

D={d,c,a,b}, 

E={a,e,I,o,u}, 

F={ Set of words in English Alphabet} 

A.....E

≠

https://dl.doubtnut.com/l/_oU0FBWucHmPh
https://dl.doubtnut.com/l/_OMlMfcDzvutL


Watch Video Solution

136. Consider the following sets and fill up the

blanks in the statement given below with = or

 so as to make the statement true. 


A={1,2,3} 

B={the first three natural numbers), 

C={a,b,c,d} 

D={d,c,a,b}, 

E={a,e,I,o,u}, 

F={ Set of words in English Alphabet} 

C......D

≠

https://dl.doubtnut.com/l/_OMlMfcDzvutL
https://dl.doubtnut.com/l/_50qSMFaoVDIU


Watch Video Solution

137. Consider the following sets and fill up the

blanks in the statement given below with = or

 so as to make the statement true. 


A={1,2,3} 

B={the first three natural numbers), 

C={a,b,c,d} 

D={d,c,a,b}, 

E={a,e,I,o,u}, 

F={ Set of words in English Alphabet} 

D......F

≠

https://dl.doubtnut.com/l/_50qSMFaoVDIU
https://dl.doubtnut.com/l/_uhbspTbo6hoS


Watch Video Solution

138. Consider the following sets and fill up the

blanks in the statement given below with = or

 so as to make the statement true. 


A={1,2,3} 

B={the first three natural numbers), 

C={a,b,c,d} 

D={d,c,a,b}, 

E={a,e,I,o,u}, 

F={ Set of words in English Alphabet} 

F........A

≠

https://dl.doubtnut.com/l/_uhbspTbo6hoS
https://dl.doubtnut.com/l/_vkWL9EVP6Zfy


Watch Video Solution

139. Consider the following sets and fill up the

blanks in the statement given below with = or

 so as to make the statement true. 


A={1,2,3} 

B={the first three natural numbers), 

C={a,b,c,d} 

D={d,c,a,b}, 

E={a,e,I,o,u}, 

F={ Set of words in English Alphabet} 

D...........E

≠

https://dl.doubtnut.com/l/_vkWL9EVP6Zfy
https://dl.doubtnut.com/l/_IHyq1sAxfzu5


Watch Video Solution

140. Consider the following sets and fill up the

blanks in the statement given below with = or

 so as to make the statement true. 


A={1,2,3} 

B={the first three natural numbers), 

C={a,b,c,d} 

D={d,c,a,b}, 

E={a,e,I,o,u}, 

F={ Set of words in English Alphabet} 

F.........B

≠

https://dl.doubtnut.com/l/_IHyq1sAxfzu5
https://dl.doubtnut.com/l/_Fz215cDC0q0C


Watch Video Solution

141. In each of the following .state whether A=B

or not. 

A={a,b,c,d}, B={d,c,a,b}

Watch Video Solution

142. In each of the following .state whether

A=B or not. 

A={4,8,12,16},B={8,4,16,18}

https://dl.doubtnut.com/l/_Fz215cDC0q0C
https://dl.doubtnut.com/l/_AO08uHBLrSrL
https://dl.doubtnut.com/l/_ArsVtBvHRXSm


Watch Video Solution

143. In the following, state whether A = B or

not: 

 B = { x : x is positive even

integer and }

Watch Video Solution

A = {2, 4, 6, 8, 10}

x ≤ 10

144. In each of the following .state whether

A=B or not. 

https://dl.doubtnut.com/l/_ArsVtBvHRXSm
https://dl.doubtnut.com/l/_NTFA5wuKsCSP
https://dl.doubtnut.com/l/_ml1p9rOEexcj


A={x:x is a multiple of 10} 

B={10,15,20,25,30…….}

Watch Video Solution

145. State the reasons for the following: 

{1,2,3…………..10}  {x:x  N and }

Watch Video Solution

≠ ∈ 1 < x < 10

146. State the reasons for the following: 

{2,4,6,8,10}  {x:x =2n+1 and x  N}≠ ∈

https://dl.doubtnut.com/l/_ml1p9rOEexcj
https://dl.doubtnut.com/l/_kHQFbPq4ZLQ9
https://dl.doubtnut.com/l/_fCNdd1t4dzhj


Watch Video Solution

147. State the reasons for the following: 

{5,15,30,45}  {x:x is a multiple of 15}

Watch Video Solution

≠

148. State the reasons for the following: 

{2,3,5,7,9}  {x:x is a prime number}

Watch Video Solution

≠

https://dl.doubtnut.com/l/_fCNdd1t4dzhj
https://dl.doubtnut.com/l/_tmKdGitJnhAh
https://dl.doubtnut.com/l/_NRKsAoEhUHHr
https://dl.doubtnut.com/l/_MR8H7FsmZSg3


149. List all the subsets of the following sets. 

B={p,q}

Watch Video Solution

150. List all the subsets of the following sets. 

C={x,y,z}

Watch Video Solution

https://dl.doubtnut.com/l/_MR8H7FsmZSg3
https://dl.doubtnut.com/l/_tJr6KGBOzJ5T


151. List all the subsets of the following sets. 

D={a,b,c,d}

Watch Video Solution

152. List all the subsets of the following sets. 

E={1,4,9,16}

Watch Video Solution

https://dl.doubtnut.com/l/_puCXAFvwB65s
https://dl.doubtnut.com/l/_IYtYHVI7dAVC


153. List all the subsets of the following sets. 

F={10,100,1000}

Watch Video Solution

154. State which of the following sets are finite

and infinite. 

Watch Video Solution

{x : x ∈ N and (x − 1)(x − 2) = 0}

https://dl.doubtnut.com/l/_zuJWQrSfL3OM
https://dl.doubtnut.com/l/_GSnkvLbWf046


155. State which of the following sets are finite

and infinite. 

Watch Video Solution

{x : x ∈ N and x2 = 4}

156. State which of the following sets are finite

and infinite. 

Watch Video Solution

{x : x ∈ N and 2x − 2 = 0}

https://dl.doubtnut.com/l/_nFZdAzZjwChp
https://dl.doubtnut.com/l/_8k4eprPwgNPq
https://dl.doubtnut.com/l/_2bxddWmBr9od


157. State which of the following sets are finite

and infinite. 

 and x is prime}

Watch Video Solution

{x : x ∈ N

158. State which of the following sets are finite

and infinite. 

 and x is odd}

Watch Video Solution

{x : x ∈ N

https://dl.doubtnut.com/l/_2bxddWmBr9od
https://dl.doubtnut.com/l/_gGbnboqQjVBB
https://dl.doubtnut.com/l/_7HKu9oZBGWxe


159. IF A={1,2,3,4,5},B={2,4,6,8} then find n (

).

Watch Video Solution

A ∪ B

160. Which of the following are empty sets? 

Justify your answer. 

Set of integers which lie between 2 and 3.

Watch Video Solution

https://dl.doubtnut.com/l/_7HKu9oZBGWxe
https://dl.doubtnut.com/l/_54x8yUmHN7ax


161. Which of the following are empty sets? 

Justify your answer. 

Set of natural numbers that are smaller than 1.

Watch Video Solution

162. Which of the following are empty sets? 

Justify your answer. 

Set of odd numbers that leave remainder zero,

when divided by2.

Watch Video Solution

https://dl.doubtnut.com/l/_cXZGX0xuDn3Y
https://dl.doubtnut.com/l/_NbyJXypBYLIt


163. State which of the following sets are finite

and which are infinite. Give reasons for your

answer. 

Watch Video Solution

A = {x : x ∈ N and x < 100}

164. State which of the following sets are finite

and which are infinite. Give reasons for your

answer. 

B = {x : x ∈ N and x ≤ 5}

https://dl.doubtnut.com/l/_NbyJXypBYLIt
https://dl.doubtnut.com/l/_Plx6GMsRdGZ6
https://dl.doubtnut.com/l/_4mZkWkjxE0HK


Watch Video Solution

165. State which of the following sets are finite

and which are infinite. Give reasons for your

answer. 

Watch Video Solution

C = {12, 22, 32, …. . }

166. State which of the following sets are finite

and which are infinite. Give reasons for your

https://dl.doubtnut.com/l/_4mZkWkjxE0HK
https://dl.doubtnut.com/l/_wXvyXDCr3jhD
https://dl.doubtnut.com/l/_HEHyXQ5CmKVM


answer. 

Watch Video Solution

D = {1, 2, 3, 4}

167. State which of the following sets are finite

and which are infinite. Give reasons for your

answer. 

{x:x is a day of the week}

Watch Video Solution

https://dl.doubtnut.com/l/_HEHyXQ5CmKVM
https://dl.doubtnut.com/l/_Nb0iQ6fUNjww


168. Tick the set which is finite

A. The set of whole numbers lt 10

B. The set of prime numbers lt 10

C. The set of integers lt 10

D. The set of factors of 10

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fTfMsXvPeKce


169. Which of the following sets are empty

sets? Justify your answer 

A=

Watch Video Solution

{x : x2 = 4 and 3x = 9}

170. Which of the following sets are empty

sets? Justify your answer 

The sets of all traingles in a plane having the

sum of their three angles less than 180.

Watch Video Solution

https://dl.doubtnut.com/l/_K7dJKBSjZKFb
https://dl.doubtnut.com/l/_dCqk4jXybtHl


171. B={x:x+5=5} is not an empty set. Why?

Watch Video Solution

172. An empty set is a finite set, Is this

statement true or false?Why?

Watch Video Solution

https://dl.doubtnut.com/l/_dCqk4jXybtHl
https://dl.doubtnut.com/l/_X8JFu2aKf5QK
https://dl.doubtnut.com/l/_YszaJ7vkV8q4


173. What is the relation between n(A), n(B),

 and  ?

Watch Video Solution

n(A ∩ B) n(A ∪ B)

174. IF A and B are disjoint sets then how can

you find ?

Watch Video Solution

n(A ∪ B)

https://dl.doubtnut.com/l/_WVQOzZo2t4JH
https://dl.doubtnut.com/l/_ahstuMCTWcbY


175. State which of the following sets are

empty and which are not? 

The set of lines passing through a given point.

Watch Video Solution

176. State which of the following sets are

empty and which are not? 

Set of odd natural numbers divisible by 2.

Watch Video Solution

https://dl.doubtnut.com/l/_fCAp3wKMMhkU
https://dl.doubtnut.com/l/_xj2AZu6GkkGa
https://dl.doubtnut.com/l/_NSGqpRaKXeis


177. State which of the following sets are

empty and which are not? 

{x:x is a natural number, x 5 and x 7}

Watch Video Solution

< >

178. State which of the following sets are

empty and which are not? 

{x:x is a common point to any two parallel

lines}

Watch Video Solution

https://dl.doubtnut.com/l/_NSGqpRaKXeis
https://dl.doubtnut.com/l/_diGuAXwGQseM


179. State which of the following sets are

empty and which are not? 

Set of even prime numbers.

Watch Video Solution

180. Which of the following sets are finite or

infinite? 

The set of month in a year.

Watch Video Solution

https://dl.doubtnut.com/l/_XMYQVizqLVi1
https://dl.doubtnut.com/l/_cAaM7PYZsQEo
https://dl.doubtnut.com/l/_whJiIm9kPfg3


181. Which of the following sets are finite or

infinite? 

{1,2,3,……,99,100}

Watch Video Solution

182. Which of the following sets are finite or

infinite? 

The set of prime numbers smaller than 99.

Watch Video Solution

https://dl.doubtnut.com/l/_whJiIm9kPfg3
https://dl.doubtnut.com/l/_pBR24d8Oov5Z
https://dl.doubtnut.com/l/_o7yCqW1xbrTk


183. State whether each of the following sets is

finite or infinite. 

The set of letters in the English alphabet.

Watch Video Solution

184. State whether each of the following sets

is finite or infinite. 

The set of lines which are parallel to the X-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_o7yCqW1xbrTk
https://dl.doubtnut.com/l/_e2vKtdpMbybo


185. State whether each of the following sets is

finite or infinite. 

The set of numbers which are multiple of 5.

Watch Video Solution

186. State whether each of the following sets is

finite or infinite. 

The set of circles passing through the origin

(0,0).

Watch Video Solution

https://dl.doubtnut.com/l/_LzZNSk7qUhhc
https://dl.doubtnut.com/l/_Dt4KyvuCczdT


187. Which of the following are sets? Justify

your answer. 

the collection of all months of a year

beginning with letter 'M'

Watch Video Solution

188. Which of the following are sets? Justify

your answer. 

A team of eleven best cricket batsmen of the

world.

https://dl.doubtnut.com/l/_Dt4KyvuCczdT
https://dl.doubtnut.com/l/_CcexnCmrggRg
https://dl.doubtnut.com/l/_0zvJMcUHIA9a


Watch Video Solution

189. Which of the following are sets? Justify

your answer. 

The collection of all boys in your class.

Watch Video Solution

190. Which of the following are sets? Justify

your answer. 

The collection of all odd integers.

https://dl.doubtnut.com/l/_0zvJMcUHIA9a
https://dl.doubtnut.com/l/_t80Pbma6hcFb
https://dl.doubtnut.com/l/_OqNP8ymeP5QW


Watch Video Solution

191. If A = { 1,2,3,4} B = {5,6,7} and C = {p,q,r,s},

then fill the appropriate symbol,  or  in

the blanks. 

2…..A

Watch Video Solution

∈ ∈

192. If A = { 1,2,3,4} B = {5,6,7} and C = {p,q,r,s},

then fill the appropriate symbol,  or  in∈ ∈

https://dl.doubtnut.com/l/_OqNP8ymeP5QW
https://dl.doubtnut.com/l/_pCKUZvJxdQla
https://dl.doubtnut.com/l/_QmSZ9fXFoIP9


the blanks. 

6…..C

Watch Video Solution

193. If A = { 1,2,3,4} B = {5,6,7} and C = {p,q,r,s},

then fill the appropriate symbol,  or  in

the blanks. 

4…..B

Watch Video Solution

∈ ∈

https://dl.doubtnut.com/l/_QmSZ9fXFoIP9
https://dl.doubtnut.com/l/_J2Q4aEygd4nc


194. If A = { 1,2,3,4} B = {5,6,7} and C = {p,q,r,s},

then fill the appropriate symbol,  or  in

the blanks. 

q….C

Watch Video Solution

∈ ∈

195. If A = { 1,2,3,4} B = {5,6,7} and C = {p,q,r,s},

then fill the appropriate symbol,  or  in

the blanks. 

5……B

∈ ∈

https://dl.doubtnut.com/l/_sVeooY9nrJXa
https://dl.doubtnut.com/l/_iwwcIHvKoNsu


Watch Video Solution

196. If A = { 1,2,3,4} B = {5,6,7} and C = {p,q,r,s},

then fill the appropriate symbol,  or  in

the blanks. 

8……A

Watch Video Solution

∈ ∈

197. Express the following statements using

symbols. 

The element p does not belong to 'A'

https://dl.doubtnut.com/l/_iwwcIHvKoNsu
https://dl.doubtnut.com/l/_OK4ISbnleva6
https://dl.doubtnut.com/l/_BMmSYpc9ojmG


Watch Video Solution

198. Express the following statements using

symbols. 

'q' is an element of the set 'B'

Watch Video Solution

199. Express the following statements using

symbols. 

4 belongs to the set of Natural numbers N

https://dl.doubtnut.com/l/_BMmSYpc9ojmG
https://dl.doubtnut.com/l/_D9ajYwJ5yjIr
https://dl.doubtnut.com/l/_J04dpM78URAI


Watch Video Solution

200. Express the following statements using

symbols. 

5 belongs to the set prime numbers P

Watch Video Solution

201. Write the following sets in roaster form 

A = {x: x is a natural number less than 8}

Watch Video Solution

https://dl.doubtnut.com/l/_J04dpM78URAI
https://dl.doubtnut.com/l/_F2ysGQb1EqEl
https://dl.doubtnut.com/l/_HA7MgkVYuAvC


202. Write the following sets in roaster form 

B = { x:x is a two digital natural number such

that the sum of its digits is 5}

Watch Video Solution

203. Write the following sets in roaster form 

C = {x: x is a prime number which is a divisor of

30}

Watch Video Solution

https://dl.doubtnut.com/l/_uEvE8EcEVTH0
https://dl.doubtnut.com/l/_DfyXFVZc9j7v
https://dl.doubtnut.com/l/_aY4XtNko53RP


204. Write the following sets in roaster form 

D = { the set of all letters in the word CRICKET}

Watch Video Solution

205. Write the following sets in the set-builder

form 

A = {5,10,15,20}

Watch Video Solution

https://dl.doubtnut.com/l/_aY4XtNko53RP
https://dl.doubtnut.com/l/_26Taw6fCweYC


206. Write the following sets in the set-builder

form 

B = {3,9,27,81}

Watch Video Solution

207. Write the following sets in the set-builder

form 

C = {4,16,64,256}

Watch Video Solution

https://dl.doubtnut.com/l/_ipYLT1cIEh2O
https://dl.doubtnut.com/l/_b2PEs36hhAb8
https://dl.doubtnut.com/l/_rwxR839BA8uo


208. Write the following sets in the set-builder

form 

D = {1,8,27,64,125,….,1000}

Watch Video Solution

209. If A = {1,2,3,4,5},B = {3,4,5,
 6}, then find

 and .

Watch Video Solution

A ∪ B A ∩ B

https://dl.doubtnut.com/l/_rwxR839BA8uo
https://dl.doubtnut.com/l/_FobpYAV3buPx


210. If A = {4,5,6,7,8},B = {7,8,9,10,11} then find A-B

and B-A.

Watch Video Solution

211. Which of the following pairs of sets are

disjoint? 

A = {3,4,5,6}, B = {4,6}

Watch Video Solution

https://dl.doubtnut.com/l/_lT9IARPLt0IP
https://dl.doubtnut.com/l/_p7ofos98pPNe


212. Which of the following pairs of sets are

disjoint? 

A = {a,e,i,o,u}, B = {I,j,k}

Watch Video Solution

213. Which of the following pairs of sets are

disjoint? 

A = {5,10,15,20}, B = {8,16,24}

Watch Video Solution

https://dl.doubtnut.com/l/_vC4lWvPxyLp5
https://dl.doubtnut.com/l/_PFMCVA79ecUa
https://dl.doubtnut.com/l/_BEgyXlS1qCqX


214. Which of the following pairs of sets are

disjoint? 

A = {1,3,5,7}, B = {2,4,6,8}

Watch Video Solution

215. If A = {3,4,5,6,7}, B = {2,4,5,8} then find

.

Watch Video Solution

n(A ∪ B)

https://dl.doubtnut.com/l/_BEgyXlS1qCqX
https://dl.doubtnut.com/l/_LTAiapD2MDuu


216. If A and B are two sets and n(A) = 15, n(B) =

25 and  find 

Watch Video Solution

n(A ∩ B) = 10 n(A ∪ B)

217. following set is equal or not? 

A = {3,4,5,6}, B= {7,8,9,10}

Watch Video Solution

https://dl.doubtnut.com/l/_B4bQfKr2QngV
https://dl.doubtnut.com/l/_gDeUfA1WKFJZ


218. In each of the following .state whether

A=B or not. 

A={a,b,c,d}, B={d,c,a,b}

Watch Video Solution

219. following set is equal or not? 

E = {2,4,6,8}, F = {x: x is a positive even number

< 10}

Watch Video Solution

https://dl.doubtnut.com/l/_2pPJE9HGxMxH
https://dl.doubtnut.com/l/_yazX5gKQuyTW
https://dl.doubtnut.com/l/_bpKQHQuybD1F


220. following set is equal or not? 

G = {5,10,15,20,….},H= {x:x is a multiple of 5}

Watch Video Solution

221. State the reasons for the following. 

{4,5,6,….,12}  {  and 4 < x < 12}

Watch Video Solution

≠ x : x ∈ N

https://dl.doubtnut.com/l/_bpKQHQuybD1F
https://dl.doubtnut.com/l/_8UXaorMuSMwG


222. State the reasons for the following: 

{2,4,6,8,10}  {x:x =2n+1 and x  N}

Watch Video Solution

≠ ∈

223. State the reasons for the following. 

{3,6,9,12}  {x: x is a multiple of 3}

Watch Video Solution

≠

https://dl.doubtnut.com/l/_VZ4Q4JNATWZT
https://dl.doubtnut.com/l/_7aNzkGKxkcXE


224. State the reasons for the following. 

{ 1,3,5,7,9}  {x: x is an even number}

Watch Video Solution

≠

225. Write down all the subsets of the

following sets 

Watch Video Solution

{a, b}

https://dl.doubtnut.com/l/_pz24xYz4SXE6
https://dl.doubtnut.com/l/_0LfPuGQknCz8


226. List all the subsets of the following 

B = {p,q,r}

Watch Video Solution

227. Write down all the subsets of the

following sets 

Watch Video Solution

{1, 2, 3}

https://dl.doubtnut.com/l/_h2HkhzrgMD5I
https://dl.doubtnut.com/l/_Rh1HfJSx9lj1


228. State which of the following sets are

empty 

Set of integers which lie between 5 and 6.

Watch Video Solution

229. State which of the following sets are

empty and which are not? 

Set of odd natural numbers divisible by 2.

Watch Video Solution

https://dl.doubtnut.com/l/_pqt6jyfzVAof
https://dl.doubtnut.com/l/_I18iWgJY2naZ
https://dl.doubtnut.com/l/_VtmzP5xP2BGG


230. State which of the following sets are

empty 

The set of lines which are parallel to the Y-axis.

Watch Video Solution

231. State which of the following sets are

empty 

{x:x is a natural number, x<6 and x>8}

Watch Video Solution

https://dl.doubtnut.com/l/_VtmzP5xP2BGG
https://dl.doubtnut.com/l/_4KdKvFzed2Qw
https://dl.doubtnut.com/l/_IIWxRdPWWNfz


232. Which of the following set is finite or

infinite? 

A = {  and }

Watch Video Solution

x : x ∈ N x ≤ 50

233. Which of the following set is finite or

infinite? 

B = {  and }

Watch Video Solution

x : x ∈ N x ≤ 10

https://dl.doubtnut.com/l/_IIWxRdPWWNfz
https://dl.doubtnut.com/l/_ZUoaibYMTHsN


234. Which of the following set is finite or

infinite? 

C = 

Watch Video Solution

{13, 22, 33, …. }

235. Which of the following set is finite or

infinite? 

D = {  and x is even}

Watch Video Solution

x : x ∈ N

https://dl.doubtnut.com/l/_OQ43THjEbadT
https://dl.doubtnut.com/l/_wQNgirmSX5Ng
https://dl.doubtnut.com/l/_HmBXBNYKf9sw


236. If A = {1,2,3,4,5}, B = {4,5,6,7} then find B-A.

Watch Video Solution

237. If A = {0,1,2} and B = {2,4} then find

Watch Video Solution

n(A ∪ B)

238. If 'A' is the set of all primes below '5' and

'B' is the set of all prime factors of '30' ,then is

https://dl.doubtnut.com/l/_HmBXBNYKf9sw
https://dl.doubtnut.com/l/_I0pUKpnKNbCZ
https://dl.doubtnut.com/l/_eYZimF28q9Nt


A-B = B-A?

Watch Video Solution

239. Represent the following through Venn-

diagream. 

A-B

Watch Video Solution

240. Represent the following through Venn-

diagream. 

https://dl.doubtnut.com/l/_eYZimF28q9Nt
https://dl.doubtnut.com/l/_i87XKIxR718S
https://dl.doubtnut.com/l/_QyaSNnqMSliT


B-A

Watch Video Solution

241. Represent the following through Venn-

diagram. 

Watch Video Solution

A ∪ B

242. Represent the following through Venn-

diagram. 

https://dl.doubtnut.com/l/_QyaSNnqMSliT
https://dl.doubtnut.com/l/_MPTdOI1J1bDB
https://dl.doubtnut.com/l/_LjSJREwCdukS


Watch Video Solution

A ∩ B

243. If A = {x: 'x' is a Natural number below 10} 

B= {x: 'x' is an even number below 10} 

C , {x: 'x' is an odd number below 10} then 

find A-B

Watch Video Solution

https://dl.doubtnut.com/l/_LjSJREwCdukS
https://dl.doubtnut.com/l/_fH2prRpLJCBS


244. If A = {x: 'x' is a Natural number below 10} 

B= {x: 'x' is an even number below 10} 

C , {x: 'x' is an odd number below 10} then 

find A-C

Watch Video Solution

245. If A = {x: 'x' is a Natural number below 10} 

B= {x: 'x' is an even number below 10} 

C , {x: 'x' is an odd number below 10} then 

find B ∪ C

https://dl.doubtnut.com/l/_82nkBIkLyZJ3
https://dl.doubtnut.com/l/_c7eE2ogbQauB


Watch Video Solution

246. Write the set A = {1, 4, 9, 16, 25, . . . }in set-

builder form.

Watch Video Solution

247. If A = {  is a prime number and x<20 }

then 

B = {  and x<9} then Find 


Watch Video Solution

x /x

x /2x + 1, x ∈ w

A ∩ B

https://dl.doubtnut.com/l/_c7eE2ogbQauB
https://dl.doubtnut.com/l/_Jgg43ZjVKkIh
https://dl.doubtnut.com/l/_6HTL7ktsBFCx


248. If A = {  is a prime number and x<20 }

then 

B = {  and x<9} then Find 


Watch Video Solution

x /x

x /2x + 1, x ∈ w

B ∩ A

249. If A = {  is a prime number and x<20 }

then 

x /x

https://dl.doubtnut.com/l/_6HTL7ktsBFCx
https://dl.doubtnut.com/l/_TT75GwiIz96R
https://dl.doubtnut.com/l/_k8rpAffYxcQU


B = {  and x<9} then Find 


`A-B

Watch Video Solution

x /2x + 1, x ∈ w

250. If A = {  is a prime number and x<20 }

then 

B = {  and x<9} then Find 


B-A. What do you observe?

Watch Video Solution

x /x

x /2x + 1, x ∈ w

https://dl.doubtnut.com/l/_k8rpAffYxcQU
https://dl.doubtnut.com/l/_mF94hITo9ZoI


251. Write roster and builder form of The set

of all natural numbers which divide .

Watch Video Solution

42∘

252. Write A{1,2,3,4} in set builder form.

Watch Video Solution

253. Let A={  is an even number} 


B={  is an odd number}


x /x

x /x

https://dl.doubtnut.com/l/_OD0spEUgSWd4
https://dl.doubtnut.com/l/_SLzKFCe6P0X3
https://dl.doubtnut.com/l/_C981SMiJXAaU


C={  is a prime number } 


D={  is a multiple of 5} 


Find 

Watch Video Solution

x /x

x /x

A ∪ B

254. Let A={  is an even number} 


B={  is an odd number}


C={  is a prime number } 


D={  is a multiple of 5} 


x /x

x /x

x /x

x /x

https://dl.doubtnut.com/l/_C981SMiJXAaU
https://dl.doubtnut.com/l/_tDTG59ogGJLD


Find 

Watch Video Solution

A ∩ B

255. Let A={  is an even number} 


B={  is an odd number}


C={  is a prime number } 


D={  is a multiple of 5} 


Find 

C-D

Watch Video Solution

x /x

x /x

x /x

x /x

https://dl.doubtnut.com/l/_tDTG59ogGJLD
https://dl.doubtnut.com/l/_PM6kTC8Y3eRP


256. Let A={  is an even number} 


B={  is an odd number}


C={  is a prime number } 


D={  is a multiple of 5} 


Find 

.

Watch Video Solution

x /x

x /x

x /x

x /x

A ∩ C

257. Write all the subsets of B = {p,q}

Watch Video Solution

https://dl.doubtnut.com/l/_PM6kTC8Y3eRP
https://dl.doubtnut.com/l/_80SFI94MeuSo
https://dl.doubtnut.com/l/_wD6j93qDlOEj


258. Write the roster form of the set A. 

A= 

Watch Video Solution

{x : x = 2n + 1 ∀n ∈ N}

259. IF A={1,2,3,4} and B={1,2,3,5,6} then find 

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_wD6j93qDlOEj
https://dl.doubtnut.com/l/_3iDiCF8KdIiR
https://dl.doubtnut.com/l/_UOonG2YCK5Rb


260. IF A={1,2,3,4} and B={1,2,3,5,6} then find 

Watch Video Solution

B ∩ A

261. IF A={1,2,3,4} and B={1,2,3,5,6} then find 

A-B

Watch Video Solution

https://dl.doubtnut.com/l/_TcPlSkbuSC35
https://dl.doubtnut.com/l/_nUzl5OesIWew


262. If A = {1,2,3,4} and B = {1,2,3,5,6} then find 

B-A

Watch Video Solution

263. Write the Set builder form of A-B where 

A = {  and x<20} and B = {

and }

Watch Video Solution

x : x ∈ N x : x ∈ N

x ≤ 5

https://dl.doubtnut.com/l/_InMFW7amOyLf
https://dl.doubtnut.com/l/_iYBRZzhgFnVb


264. IF  and 

 then show that

A-B  B-A with the help of Venn diagram.

Watch Video Solution

A = {x /x ∈ N, x < 6}

B = {x : x ∈ N, 3 < x < 8}

≠

265. Write the set builder form of 

Watch Video Solution

A = {1, , , , }
1

4

1

9

1

16

1

25

https://dl.doubtnut.com/l/_vAECZ2pcO7mK
https://dl.doubtnut.com/l/_5qpanLMpPjO8


266. IF x is set of all factors of 24 and y is set

all factors of 36 then find  and 

using Venn diagrams. Comment.

Watch Video Solution

X ∪ Y X ∩ Y

267. If A = {2,3,4,5}, B = {1,5,6} C = {6,7,8,9,10} D=

{0,2,5,7} 

Find 

.

A ∪ B, B ∪ C, C ∪ D, A ∩ B, B ∩ C, C ∩ D

https://dl.doubtnut.com/l/_rUEU5gTlFpKq
https://dl.doubtnut.com/l/_h60xVEhWiFvq


Watch Video Solution

268. If A = {1,2,3,4}, B = {5,6} C = {3,4,5,6} D=

{4,6,7,8} 

Find 

Watch Video Solution

A ∪ B ∪ C, B ∪ C, C ∪ D, C ∩ D,

269. If A = {5,6,7,8,9,10} 

B = {4,8,12,16,20} 

C = { 5,10,15,20} D = {3,6,9,12,15} Find A-B, C-D, B-C,

A-D.

https://dl.doubtnut.com/l/_h60xVEhWiFvq
https://dl.doubtnut.com/l/_xSPRtPAYiY68
https://dl.doubtnut.com/l/_vox7LfGW8Ukz


Watch Video Solution

270. If A = {1,2,3,4,5},B = {2,4,6,8} C = {3,6,9,12} , D

= {6,12,18,24} Find A-B, C-B, A-D, B-C.

Watch Video Solution

271. Let A = {1,2,3,4,5} B = { 4,5,6,7} 

Find A-B and draw Venn-diagram of A-B

Watch Video Solution

https://dl.doubtnut.com/l/_vox7LfGW8Ukz
https://dl.doubtnut.com/l/_lAny5f1pBb6l
https://dl.doubtnut.com/l/_yD7BgDslr6KX
https://dl.doubtnut.com/l/_YIsZsSTQipJl


272. Let A = {3,6,9,12}, B = {2,4,6,8}. Find A-B,B-A

and Venn-diagram of A-B,B-A.

Watch Video Solution

273. If A = {1,2,3,4} and B = {2,4,6,8} Find 

with Venn-diagram.

Watch Video Solution

A ∪ B

https://dl.doubtnut.com/l/_YIsZsSTQipJl
https://dl.doubtnut.com/l/_orSEg9ApRiyT


Exercise

274. If A = {2,4,6,8} B = {1,5,10, 15} Find 

with Venn-diagram.

Watch Video Solution

A ∪ B

1. Which of the following are sets? Justify your

answer. 

The collection of all even integers.

https://dl.doubtnut.com/l/_SqEwSq5Z6iuU
https://dl.doubtnut.com/l/_E6RqncsLZCwf


A. The collection of natural numbers which

divides 75.

B. A collection of most dangerous animlas

the world.

C. The collection of teachers in your school.

D. The collection of different problems in

this chapter.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_E6RqncsLZCwf
https://dl.doubtnut.com/l/_7EGXaOcC72dm


2. If A = {1,4,5,6,8} and B={3,7,10}, insert the

appropriate symble  or  in the blank

spaces. 

3….A

Watch Video Solution

∈ ∈

3. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the

blanks. 

4………….B

Watch Video Solution

∈ ∉

https://dl.doubtnut.com/l/_7EGXaOcC72dm
https://dl.doubtnut.com/l/_jeKf7PsVkdcx


4. If A = {1,4,5,6,8} and B={3,7,10}, insert the

appropriate symble  or  in the blank

spaces. 

2….B

Watch Video Solution

∈ ∈

5. IF A={0,2,4,6}, B={3,5,7} and C={p,q,r} the fill

the appropriate symbol ,  or  in the∈ ∉

https://dl.doubtnut.com/l/_jeKf7PsVkdcx
https://dl.doubtnut.com/l/_BZlt1tciQlpt
https://dl.doubtnut.com/l/_Lqf88FZ8drCZ


blanks. 

7…………….B

Watch Video Solution

6. If A = {1,4,5,6,8} and B={3,7,10}, insert the

appropriate symble  or  in the blank

spaces. 

10….B

Watch Video Solution

∈ ∈

https://dl.doubtnut.com/l/_Lqf88FZ8drCZ
https://dl.doubtnut.com/l/_cCOduKpaoEq4


7. If A = {1,4,5,6,8} and B={3,7,10}, insert the

appropriate symble  or  in the blank

spaces. 

1…..A

Watch Video Solution

∈ ∈

8. Express the following statements using

symbols. 

The elements 'X' does not belong to 'A'.

Watch Video Solution

https://dl.doubtnut.com/l/_ySshBj6phStg
https://dl.doubtnut.com/l/_HuWquazcQMti


9. Express the following statements using

symbols. 

'd' is an element of the set'B'

Watch Video Solution

10. 2 is……………of set of natural numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_HuWquazcQMti
https://dl.doubtnut.com/l/_uilTFhykx8c9
https://dl.doubtnut.com/l/_LgtJ3aOXvKtd


11. Express the following statements using

symblos. 

9 does not belong to the set of prime

numbers P.

Watch Video Solution

12. Write the following set in roster form 

A = }

Watch Video Solution

{x /x2 = 16

https://dl.doubtnut.com/l/_q5qsupP5AzWE
https://dl.doubtnut.com/l/_CBQX54KvPTr7
https://dl.doubtnut.com/l/_FGi3BZ6rqqwD


13. Write the following set in roster form 

B = {  is positive , x is negative}

Watch Video Solution

x /x

14. Write the following set in roster form 

C = {  is a letter in word CALCULUS}

Watch Video Solution

x /x

https://dl.doubtnut.com/l/_FGi3BZ6rqqwD
https://dl.doubtnut.com/l/_Q1Eg6z7qZmrC


15. Write the following set in roster form 

D= {  is an integer and }

Watch Video Solution

x /x −2 ≤ x < 6

16. Write the following sets in the set-builder

form. 

A= {3,6,9,12,15,….}

Watch Video Solution

https://dl.doubtnut.com/l/_RHUkjbsxmlbb
https://dl.doubtnut.com/l/_Dp7e81wUTgsr


17. Write the following sets in the set-builder

form. 

B = {-1,1}

Watch Video Solution

18. Write the following sets in the set-builder

form : 

Watch Video Solution

{2, 4, 6, . . . }

https://dl.doubtnut.com/l/_m3cJmKBroWcs
https://dl.doubtnut.com/l/_IzMbfuXPnGjn
https://dl.doubtnut.com/l/_qmMkRApx1at6


19. Write the following sets in the set-builder

form 

D = {1,8,27,64,125,….,1000}

Watch Video Solution

20. If A = {1,2,3,4} and B = {3,4,5,6} , then find

.

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_qmMkRApx1at6
https://dl.doubtnut.com/l/_5P7baLXFPpNK


21. If A = {a,b,c,d}, B = {c,d,e,f} and C= {d,e,f,g}

then find  and ,

Watch Video Solution

A ∩ B, B ∩ C A ∩ C

22. If A = {a,b} and B = {a,b,c}, then find .

Watch Video Solution

A ∪ B

23. If A = {1,3,5} and B = {1,2,3} , then find 

and .

A ∪ B

A ∩ B

https://dl.doubtnut.com/l/_i2A7KS5gg2rr
https://dl.doubtnut.com/l/_UxDWNqhOzOkF
https://dl.doubtnut.com/l/_5zbJ177yhr3U


Watch Video Solution

24. If A = {3,5,7,9,11},B = {7,9,11,13}, then find A-B

and B-A.

Watch Video Solution

25. Which of the following pairs of sets are

disjoint?

A. {1,2,3,4} and {x:x is a natural number and

}4 ≤ x ≤ 6

https://dl.doubtnut.com/l/_5zbJ177yhr3U
https://dl.doubtnut.com/l/_dqbDSzydKEiS
https://dl.doubtnut.com/l/_iKH9DCZzXTkQ


B. {a,e,i,o,u} and {c,d,e,f}

C. {x: x is an even integer} and {x:x is an odd

integer}

D. 

Answer:

Watch Video Solution

26. A and B are two sets. If n(A) = 17, n(B) = 23,

and  = 38 find .n(A ∪ B) n(A ∩ B)

https://dl.doubtnut.com/l/_iKH9DCZzXTkQ
https://dl.doubtnut.com/l/_dbXfA8TCP7sI


Watch Video Solution

27. If n(AnB) = 6

n(AuB)`.

Watch Video Solution

n(A) = 10, n(B) = 11 and ,

28. Which of the following sets are equal? 

A = {1,3,5,7},B= {1,2,3,4}

Watch Video Solution

https://dl.doubtnut.com/l/_dbXfA8TCP7sI
https://dl.doubtnut.com/l/_9kESmUSGS1hI
https://dl.doubtnut.com/l/_k5joUkkK9APL


29. Which of the following sets are equal? 

C= {p,q,r}, D = {r,p,q}

Watch Video Solution

30. Which of the following sets are equal? 

E = {1,3,5,7,9,}, F = {x: x is a positive odd

number<+9}

Watch Video Solution

https://dl.doubtnut.com/l/_XC5sFwy6g4ii
https://dl.doubtnut.com/l/_YBKZin5el0r7


31. Which of the following sets are equal? 

G = {x:x is a multiple of 6} ,H = {6,12,18,24,30,…}

Watch Video Solution

32. Let A {1,2,3,4,5} Which of the following

statements are true? 

Watch Video Solution

{3, 4} ⊂ A

https://dl.doubtnut.com/l/_Bp36N5V8yN6X
https://dl.doubtnut.com/l/_oZp2fq0pTq7p


33. Let A {1,2,{3,4},5} Which of the following

statements are true? 

Watch Video Solution

{3, 4} ∈ A

34. Let A {1,2,3,4,5} Which of the following

statements are true? 

Watch Video Solution

1 ∈ A

https://dl.doubtnut.com/l/_Zj0OU6sntZq3
https://dl.doubtnut.com/l/_HETURGcrmNEt
https://dl.doubtnut.com/l/_lAiC36zFSYwE


35. Let A {1,2,3,4,5} Which of the following

statements are true? 

Watch Video Solution

1 ⊂ A

36. Let A {1,2,3,4,5} Which of the following

statements are true? 

Watch Video Solution

{1, 2, 5} ⊂ A

https://dl.doubtnut.com/l/_lAiC36zFSYwE
https://dl.doubtnut.com/l/_0i5bS4G0pKES
https://dl.doubtnut.com/l/_0XVzMV5Qs0rS


37. Let A {1,2,{3,4},5} Which of the following

statements are true? 

Watch Video Solution

ϕ ∈ A

38. Let A {1,2,{3,4},5} Which of the following

statements are true? 

Watch Video Solution

{ϕ} ⊂ A

https://dl.doubtnut.com/l/_0XVzMV5Qs0rS
https://dl.doubtnut.com/l/_QJ0AjpoUB4r9


39. Let A {1,2,{3,4},5} Which of the following

statements are true? 

Watch Video Solution

{{3, 4}} ⊂ A

40. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

ϕ ∈ A

https://dl.doubtnut.com/l/_FGBPPtYdng3A
https://dl.doubtnut.com/l/_iHAuWMFI6rS8
https://dl.doubtnut.com/l/_8SQbOSaU6On1


41. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

{ϕ} ∈ A

42. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

{1} ∈ A

https://dl.doubtnut.com/l/_8SQbOSaU6On1
https://dl.doubtnut.com/l/_kXhsmsysGsDT
https://dl.doubtnut.com/l/_vZXD7n40sA7u


43. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

{7, ϕ} ⊂ A

44. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

7 ⊂ A

https://dl.doubtnut.com/l/_vZXD7n40sA7u
https://dl.doubtnut.com/l/_INMHduybwxAe


45. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

{7, {1}} ⊂ A

46. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

{ϕ, {ϕ}, {1, ϕ}} ⊂ A

https://dl.doubtnut.com/l/_ug5ORyzruPdZ
https://dl.doubtnut.com/l/_aou4hcXaSTAH
https://dl.doubtnut.com/l/_RJE4mcYgukkS


47. let A = . Which of the

following are true? 

Watch Video Solution

{ϕ, {ϕ}, 1, {1, ϕ}, 7}

{{ϕ}} ⊂ A

48. Let E = {a,b}, which one of the following

statements are correct or incorrect? 

Watch Video Solution

{a} ∈ E

https://dl.doubtnut.com/l/_RJE4mcYgukkS
https://dl.doubtnut.com/l/_u1tnxcbprSQL
https://dl.doubtnut.com/l/_FgnAcv0qkMkY


49. Let E = {a,b}, which one of the following

statements are correct or incorrect? 

Watch Video Solution

{b} ⊂ E

50. Let E = {a,b}, which one of the following

statements are correct or incorrect? 

Watch Video Solution

ϕ ∈ E

https://dl.doubtnut.com/l/_FgnAcv0qkMkY
https://dl.doubtnut.com/l/_1s7gynpe9Kkr


51. Let E = {a,b}, which one of the following

statements are correct or incorrect? 

Watch Video Solution

ϕ ⊂ E

52. Let E = {a,b}, which one of the following

statements are correct or incorrect? 

Watch Video Solution

{a, b} ⊂ E

https://dl.doubtnut.com/l/_lxO3hslciNqU
https://dl.doubtnut.com/l/_FRlKvyaxzi3c
https://dl.doubtnut.com/l/_Vyqrp3jGvKn9


53. Let E = {a,b}, which one of the following

statements are correct or incorrect? 

Watch Video Solution

E ⊂ {a, b, c}

54. Write down all the subsets of the following

sets 

Watch Video Solution

{1, 2, 3}

https://dl.doubtnut.com/l/_Vyqrp3jGvKn9
https://dl.doubtnut.com/l/_aRkAUNEH2Q95
https://dl.doubtnut.com/l/_DH9mUw9yPz5E


55. List the subsets of the following sets: 

B = {c,d}

Watch Video Solution

56. State the following set is empty or not. 

Set of people on the earth who are older than

500.

Watch Video Solution

https://dl.doubtnut.com/l/_DH9mUw9yPz5E
https://dl.doubtnut.com/l/_KDYjQiv7EKo2


57. State the following set is empty or not. 

{x: x is a natural number, x<3 and x>5}

Watch Video Solution

58. State the following set is empty or not. 

Set of all car which can run at a speed as fast

as that of light.

Watch Video Solution

https://dl.doubtnut.com/l/_ZnMcJpeFkx1Q
https://dl.doubtnut.com/l/_HZonoMn5jQmJ


59. State whether each of the following set is

finite or infinite: 

The set of animals living on the earth

Watch Video Solution

60. State which of the following sets are finite

and infinite. 

Watch Video Solution

{x : x ∈ N and (x − 1)(x − 2) = 0}

https://dl.doubtnut.com/l/_gFR6wt6QI4nn
https://dl.doubtnut.com/l/_EcMYpaisbUpD
https://dl.doubtnut.com/l/_JtctcwQQMNjr


61. Which of the following set is finite or

infinte? 

{  and }

Watch Video Solution

x : x ∈ N x2 = 25

62. State which of the following sets are finite

and infinite. 

 and x is prime}

Watch Video Solution

{x : x ∈ N

https://dl.doubtnut.com/l/_JtctcwQQMNjr
https://dl.doubtnut.com/l/_zRKVOYv7OWAs
https://dl.doubtnut.com/l/_olxptBmqIlSc


63. State which of the following sets are finite

and infinite. 

 and x is odd}

Watch Video Solution

{x : x ∈ N

64. If A = {2,3,4,5} B = {2,4,6,8} then find the

value of A-B.

Watch Video Solution

https://dl.doubtnut.com/l/_olxptBmqIlSc
https://dl.doubtnut.com/l/_cSuZh4x1fBRD


65. If n (A  B)=8, n(A)=6, n(B)=4 then n (A 

B)=……….

Watch Video Solution

∪ ∩

66. Write the set builder form of N = {1,2,3,4,…}

Watch Video Solution

67. IF A,B are disjoint sets such that n(A)=4 and

n(A  B)=7, then n(B)=………….∪

https://dl.doubtnut.com/l/_HgsCtHtIXGqS
https://dl.doubtnut.com/l/_c3CsfvgWy1KE
https://dl.doubtnut.com/l/_9rmNTlD9c0wo


Watch Video Solution

68. {2,6,10}  {8,9,11,12,13}=…………..

Watch Video Solution

∩

69. from the Venn diagram find .A ∩ B, A ∪ B

https://dl.doubtnut.com/l/_9rmNTlD9c0wo
https://dl.doubtnut.com/l/_Ddnc46LXdDmg
https://dl.doubtnut.com/l/_e87qQp24V04A


Watch Video Solution

70. If n(A) = 4 then find the value of n(P(A)).

Watch Video Solution

71. If A = {1,2,3,4} B = {4,5,6,7} Then 

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_e87qQp24V04A
https://dl.doubtnut.com/l/_V6S3baPD9Rh0
https://dl.doubtnut.com/l/_eNgZbWJLhEDZ


72. If A = {1,2,3,4} B = {4,5,6,7} Then 

Watch Video Solution

A ∪ B

73. If A = {1,2,3,4} B = {4,5,6,7} Then 

A-B

Watch Video Solution

https://dl.doubtnut.com/l/_KC6LEFdSsuRd
https://dl.doubtnut.com/l/_2dm42kusqO5X


74. If A = {1,2,3,4} B = {4,5,6,7} Then 

B-A

Watch Video Solution

75. A={2,4,6,8,10} then its rule form is…………….

Watch Video Solution

76. If  then A = {1, 2, 3, 4}, B = {2, 4, 6, 8}

AΔB =

https://dl.doubtnut.com/l/_lXJtovpro1Wb
https://dl.doubtnut.com/l/_tK4YQlFjqB3L
https://dl.doubtnut.com/l/_3YhjsjHncwMx


Watch Video Solution

77. IF the number of proper subsets of a given

set is 31 then the set contains ……………………

elements.

Watch Video Solution

78. Write Roaster form of the set of Natural

numbers less than 100.

Watch Video Solution

https://dl.doubtnut.com/l/_3YhjsjHncwMx
https://dl.doubtnut.com/l/_uTea5Km1OEoA
https://dl.doubtnut.com/l/_4Xl49nP9sglJ


79. The symbol for a null set is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∈

∪

ϕ

⊂

https://dl.doubtnut.com/l/_4Xl49nP9sglJ
https://dl.doubtnut.com/l/_o8kMzcQjnacB


80. C = {x:x is a circle in a given plane } is

A. finite set

B. infinite set

C. universal set

D. void set

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FFi9M3T4LojC


81. which of the following set is infinite?

A. The set of natural numbers 

B. The set of even natural numbers

between 50 and 100.

C. The set of points on a circle.

D. The set of prime numbers between 10

and 50.

Answer:

Watch Video Solution

≤ 100

https://dl.doubtnut.com/l/_dxO4uvRXXLzV


82. The number of elements in the set D = {x:x

is a day of the week } is

A. 6

B. 4

C. 5

D. 7

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dxO4uvRXXLzV
https://dl.doubtnut.com/l/_cvvfWBZR8r3v


83. The symbol of "implies" is…….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

⇒

⇔

⊂

⊃

https://dl.doubtnut.com/l/_4GjyFQoS1g1t


84. If A = {1,2,3} the number of subsets of A is

A. 3

B. 8

C. 9

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_y44SuEzi8HLK


85. Two sets A and B are said to be disjoint if

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A ∪ B = ϕ

A − B = ϕ

B − A = ϕ

A ∩ B = ϕ

https://dl.doubtnut.com/l/_wccE83M6Xs9C


86. For Every set A, =

A. 

B. A

C. 0

D. 1

Answer:

Watch Video Solution

A ∩ ϕ

ϕ

https://dl.doubtnut.com/l/_FcZik5hGGQXI


87. For every set , Find =

A. 1

B. 0

C. A

D. 

Answer:

Watch Video Solution

A A ∩ A

ϕ

https://dl.doubtnut.com/l/_yWddMonqd2Yd


88. If A and B are two sets, then

A.  or 

B.  and 

C.  and 

D.  and 

Answer:

Watch Video Solution

x ∈ A ∩ B ⇒

x ∈ A x ∈ B

x ∈ A x ∈ B

x ∈ A x ∈ B

x ∈ A x ∈ B

https://dl.doubtnut.com/l/_7dsA2nG7SrJw
https://dl.doubtnut.com/l/_MguwOkURtkly


89. If A and B are two sets, then

A.  and 

B.  and 

C.  or 

D.  and 

Answer:

Watch Video Solution

x ∈ A ∪ B ⇒

x ∈ A x ∈ B

x ∈ A x ∈ B

x ∈ A x ∈ B

x ∈ A x ∈ B

https://dl.doubtnut.com/l/_MguwOkURtkly


90. If A and B are two sets, then

A.  or 

B.  and 

C.  and 

D.  and 

Answer:

Watch Video Solution

x ∈ A − B ⇒

x ∈ A x ∈ B

x ∈ A x ∈ B

x A x ∈ B

x ∈ A x ∈ B

https://dl.doubtnut.com/l/_9Fzr8rld2q16
https://dl.doubtnut.com/l/_Pw9OgoqUOUAm


91. If V={a,e,I,o,u} and B={a,I,k,u}. Find V-B and B-

V.

A. {a,e,i,o,u}

B. {a,e,o,u}

C. {e,o}

D. {a,e,o}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Pw9OgoqUOUAm


92. The shaded portion in the adjacent figure

represents 

A. 

B. 

C. A-B

A ∩ B

A ∪ B

https://dl.doubtnut.com/l/_zjxNwXUXtoi0


D. 

Answer:

Watch Video Solution

A ⊂ B

93. The shaded portion in the adjacent figure

represents 

https://dl.doubtnut.com/l/_zjxNwXUXtoi0
https://dl.doubtnut.com/l/_uCJdICJ7cA73


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A ∩ B

A ∪ B

A ⊂ B

B ⊂ A

94. The shaded portion in the adjacent figure

represents 

https://dl.doubtnut.com/l/_uCJdICJ7cA73
https://dl.doubtnut.com/l/_aB00q61UlV8V


A. 

B. 

C. B-A

D. A-B

Answer:

Watch Video Solution

A ⊂ B

B ⊂ A

https://dl.doubtnut.com/l/_aB00q61UlV8V


95. Which of the following sets are equal?

A. E = {1,0},H = {a,b}

B. A = {0,a},C={b,0}

C. D = {4,8,12},F= {8,12,4}

D. G = {1,5,7,11}.I= {1,2,3,4}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zCNqI3zUONjF


96. If A = {1,3} and B = {1,5,9} then A-B =

A. {3}

B. {1}

C. {5,9}

D. {1,3,5,9}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PcNc4B0eKwW5


97. Which of the following sets in infinite?

A. {  and (x-1)(x-2)= 0}

B. {  and }

C. {  and 2x-1 = 0}

D. {  and x is odd}

Answer:

Watch Video Solution

x : x ∈ N

x : x ∈ N x2 = 9

x : x ∈ N

x : x ∈ N

https://dl.doubtnut.com/l/_wSOxmlRdE5xT


98. Which of the following sets finite?

A. {  and x is prime}

B. {  and x is an even number less

than 20}

C. {x :  and x is an odd integer}

D. {x:  is an even prime greater than 2}

Answer:

Watch Video Solution

x : x ∈ N

x : x ∈ N

x2 = 4

x2

https://dl.doubtnut.com/l/_bkAhJFXmBAgW
https://dl.doubtnut.com/l/_m02V5E0oActw


99. Set of human being that reside on moon is

………………..

A. finite set

B. null set

C. infinite set

D. universal set

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_m02V5E0oActw


100. Which of the following is true in the

following venn diagram…..

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

A ∪ B = ϕ

A ∪ B = μ

A ∩ B = μ

A ∩ B = ϕ

https://dl.doubtnut.com/l/_m4aRhuTt2m5A


Watch Video Solution

101. Which of the following is an example for

finite set…..

A. {  and }

B. set of rational numbers in between 2

and 3

C. Multiples of even primes

D. Set of all primes

Answer:

x /x ∈ N x2 = 9

https://dl.doubtnut.com/l/_m4aRhuTt2m5A
https://dl.doubtnut.com/l/_7z8LzFUo5GOe


Watch Video Solution

102. The number of subsets of the null set 

is…………..

A. 0

B. 1

C. 3

D. 4

Answer:

h id l i

ϕ

https://dl.doubtnut.com/l/_7z8LzFUo5GOe
https://dl.doubtnut.com/l/_vI16zpvPvIP7


Watch Video Solution

103. If A={a,b,c,d}. How many subsets does the

set A have?

A. 5

B. 6

C. 16

D. 65

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vI16zpvPvIP7
https://dl.doubtnut.com/l/_Jt0uMpmuOEzK


104. A = {1,2,3,7,8}: B = {4,5,6,7} find 

A. {1,2,3,4,5,6,7,8}

B. 7

C. 

D. {7,8}

Answer:

Watch Video Solution

A ∩ B

ϕ

https://dl.doubtnut.com/l/_Jt0uMpmuOEzK
https://dl.doubtnut.com/l/_k88VBq9aOSUv
https://dl.doubtnut.com/l/_jX8MQ0FqToCU


105. n(A) = 14, n(B)= 11,  then 

=…..

A. 6

B. 16

C. 22

D. 25

Answer:

Watch Video Solution

n(A ∩ B) = 19

n(A ∪ B)

https://dl.doubtnut.com/l/_jX8MQ0FqToCU


106. The shaded area in the figure shows. 

A. A-B

B. B-A

C. 

D. 

Answer:

Watch Video Solution

AΔB

(AuB)U(AnB)

https://dl.doubtnut.com/l/_gW7B1Dvgpogr


107. IF A and B are two sets such that 

then, What is ?

A. A

B. B

C. 

D. None

Answer:

Watch Video Solution

A ⊂ B

A ∪ B

A ∩ B

https://dl.doubtnut.com/l/_gW7B1Dvgpogr
https://dl.doubtnut.com/l/_F7pRVGzpeSAP


108. IF A and B are disjoint sets then n (A B)=

……………..

A. 1

B. 

C. 0

D. { }

Answer:

Watch Video Solution

∪

ϕ

https://dl.doubtnut.com/l/_gwmUEW1DVLGZ
https://dl.doubtnut.com/l/_K4Y8rrMPkRYe


109. Match the following 

A. 

B. 

C. 

L → (iii), M → (i), N → (ii), O → (iv)

L → (i), M → (ii), N → (iii), O → (iv)

L → (iii), M → (i), N → (iv), O → (ii)

https://dl.doubtnut.com/l/_K4Y8rrMPkRYe


D. 

Answer:

Watch Video Solution

L → (iii), M → (ii), N → (ii), O → (iv)

110. ….

A. A

B. 

C. 

A ∩ ϕ =

ϕ

ϕ − A

https://dl.doubtnut.com/l/_K4Y8rrMPkRYe
https://dl.doubtnut.com/l/_iERPO7MEErgR


D. { }

Answer:

Watch Video Solution

111. Let A={1,2,{1},{1,2},3,4}, then which of the

following is true?

A. 

B. 

C. 

{3} ∈ A

{1, 3} ∈ A

{1, 2} ∈ A

https://dl.doubtnut.com/l/_iERPO7MEErgR
https://dl.doubtnut.com/l/_DcWEevNflT3G


D. None

Answer:

Watch Video Solution

112. Which of the following is false?

A. 

B. 

C. 

D. None

{1} ∈ A

{1, 2} ⊆ A

{1, 2} ∈ A

https://dl.doubtnut.com/l/_DcWEevNflT3G
https://dl.doubtnut.com/l/_wFTYk0mWIilt


Answer:

Watch Video Solution

113. IF A={1,2,3,4}, B={2,4,6,8}, then A-B=…………..

A. {6,8}

B. {1,2}

C. {1,3}

D. None

Answer:

https://dl.doubtnut.com/l/_wFTYk0mWIilt
https://dl.doubtnut.com/l/_9DPQxS4Yt8IY


Watch Video Solution

114. If n (A  B)=8, n(A)=6, n(B)=4 then n (A 

B)=……….

A. 2

B. 4

C. 6

D. 8

Answer:

∪ ∩

https://dl.doubtnut.com/l/_9DPQxS4Yt8IY
https://dl.doubtnut.com/l/_7FCFIEdwnYw9


Watch Video Solution

115. Let A,B are two sets such that

n(A)=5,n(B)=7 then the maximum number of

elements is  is

A. 7

B. 9

C. 12

D. None

Answer:

A ∪ B

https://dl.doubtnut.com/l/_7FCFIEdwnYw9
https://dl.doubtnut.com/l/_1ojOICazwpYG


Watch Video Solution

116. IF A={1,2,3,4}, then the cardinality of set A is

A. 3

B. 4

C. 5

D. 6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_1ojOICazwpYG
https://dl.doubtnut.com/l/_1X3d5KHTtQyq


117. IF A,B are disjoint sets such that n(A)=4

and n(A  B)=7, then n(B)=………….

A. 4

B. 11

C. 3

D. 20

Answer:

Watch Video Solution

∪

https://dl.doubtnut.com/l/_EcjgZYV8QiFh
https://dl.doubtnut.com/l/_ygdRrxn92ZGm


118. An object of a set is called

A. Subject

B. Number

C. Alphabet

D. Element

Answer:

Watch Video Solution

119. The symbol used for 'belongs to ' is

https://dl.doubtnut.com/l/_ygdRrxn92ZGm
https://dl.doubtnut.com/l/_XmsgPWvbhBSP


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

⊂

⊆

∈

∈

120. The set of all real numbers is

A. ϕ

https://dl.doubtnut.com/l/_XmsgPWvbhBSP
https://dl.doubtnut.com/l/_yVnTI7ZPqDEb


B. Finite set

C. infinite set

D. None

Answer:

Watch Video Solution

121. The number of elements in the empty set

is

A. 0

https://dl.doubtnut.com/l/_yVnTI7ZPqDEb
https://dl.doubtnut.com/l/_Dj4sVHoLnyqW


B. 

C. 1

D. 

Answer:

Watch Video Solution

ϕ

∈ f ∈ ite

122. If , then n(A) =

A. 0

B. 4

A = {1, 2, 2, 1, 3, 4, 3, 4}

https://dl.doubtnut.com/l/_Dj4sVHoLnyqW
https://dl.doubtnut.com/l/_rqCKFTzQOZ2y


C. 8

D. 20

Answer:

Watch Video Solution

123.  అయిన  =

A. 

B. 

C. A

A ⊂ B A ∪ B

ϕ

μ

https://dl.doubtnut.com/l/_rqCKFTzQOZ2y
https://dl.doubtnut.com/l/_Vn3x3lWr3Zr2


D. B

Answer:

Watch Video Solution

124.  =….

A. 

B. 

C. A

D. 

A ∩ ϕ

ϕ

μ

Ac

https://dl.doubtnut.com/l/_Vn3x3lWr3Zr2
https://dl.doubtnut.com/l/_obHasMFCfe04


Answer:

Watch Video Solution

125. The German mathematician who

developed the theory of sets………….

A. Bhaskar

B. Cayley

C. George Cantor

D. None

https://dl.doubtnut.com/l/_obHasMFCfe04
https://dl.doubtnut.com/l/_QSzH5fmgnq9d


Answer:

Watch Video Solution

126. A set is a ……………….of objects.

A. well defined collection

B. collection

C. elements

D. none

Answer:

https://dl.doubtnut.com/l/_QSzH5fmgnq9d
https://dl.doubtnut.com/l/_ubJV3SiCDYOX


Watch Video Solution

127. The objects in the set are called…………….. Of

the set

A. elements

B. members

C. both A & B

D. 

Answer:

https://dl.doubtnut.com/l/_ubJV3SiCDYOX
https://dl.doubtnut.com/l/_aprnHvN8oBcT


Watch Video Solution

128. Roster form of the set of natural number

less than 6 is…………..

A. {4,5,6}

B. {1,2,3}

C. {2,3,4}

D. {1,2,3,4,5}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aprnHvN8oBcT
https://dl.doubtnut.com/l/_dzoFgHR2mGAS


129. The set formed the letter of the word

"SCHOOL" is…………..

A. {S,O,H}

B. {H,O,L}

C. {S,C,H}

D. {S,C,H,O,L}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dzoFgHR2mGAS
https://dl.doubtnut.com/l/_qAMGEclpplwa


130. Roster form is also called…………….. Form.

A. list

B. set

C. number

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AH2U5tzLvpkT


131. Describing a set by same property

common to all its elements is

called………………..or………………….

A. set builder form

B. rule form

C. both A & B

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_VatjEnOpQIl6


132. A={2,4,6,8,10} then its rule form is…………….

A. A = { }

B. A = {  is odd, }

C. A = { }

D. A= {  is an even number, }

Answer:

Watch Video Solution

x2 /x ∈ N

2x /x x ≤ 20

x3 /x ∈ N

x /x x ≤ 10

https://dl.doubtnut.com/l/_qYRobg9INxTh


133. IF B={1,7,2,0,6} then n(B)=……….

A. 5

B. 6

C. 7

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_KqLjwpd5TCyj


134. =

A. n

B. 

C. 0

D. 9

Answer:

Watch Video Solution

n(ϕ)

ϕ

https://dl.doubtnut.com/l/_TESJcaPPNjRw


135. Every set is …………….of itself

A. subset

B. proper set

C. power set

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_7doQ5fNH9881


136. IF A  B and A  B then 'A' is called the

…………………of B.

A. subset

B. proper subset

C. power set

D. none

Answer:

Watch Video Solution

⊂ ≠

https://dl.doubtnut.com/l/_3jKhmaNmzfsL
https://dl.doubtnut.com/l/_4MoUPY0DWZca


137. In set Builder form, the letter x denotes

any…………that belongs to the set.

A. constant

B. element

C. arbitrary element

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4MoUPY0DWZca


138. In the rule form, the slant bar stands

for…………….

A. subset

B. such that

C. belongs

D. all

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CTRXUJV7Aors
https://dl.doubtnut.com/l/_ezVBcB2B2suP


139. 2 is……………of set of natural numbers.

A. power

B. proper

C. subset

D. an element

Answer:

Watch Video Solution

140. is………. Of the set of whole numbers.−3

https://dl.doubtnut.com/l/_ezVBcB2B2suP
https://dl.doubtnut.com/l/_RdG2DtHS4uRk


A. proper

B. power

C. element

D. not an element

Answer:

Watch Video Solution

141. 0…………….to set of whole numbers.

A. does not belong

https://dl.doubtnut.com/l/_RdG2DtHS4uRk
https://dl.doubtnut.com/l/_m3OwHu2HF2Cq


B. belong

C. subset

D. power set

Answer:

Watch Video Solution

142. A={1,2,7,10} then 7…………..A.

A. 

B. 

⊂

∈

https://dl.doubtnut.com/l/_m3OwHu2HF2Cq
https://dl.doubtnut.com/l/_ahWk4Gp6eByj


C. 

D. none

Answer:

Watch Video Solution

∈

143. A={1,2,7,10} then 4…………A.

A. 

B. 

C. 

⊃

∈

⊂

https://dl.doubtnut.com/l/_ahWk4Gp6eByj
https://dl.doubtnut.com/l/_eVhAXjWTGR9C


D. 

Answer:

Watch Video Solution

∈

144. "0 does not belong to the set of natural

numbers" we write the statement symbolically

as…………..

A. 

B. 

0 ∈ N

0 ∈ N

https://dl.doubtnut.com/l/_eVhAXjWTGR9C
https://dl.doubtnut.com/l/_mqCss8wx9JF5


C. 

D. none

Answer:

Watch Video Solution

0 ⊂ N

145. Set builder form of 

is...........

A. 

B. }

D = {1, , , , , }
1

2

1

3

1

4

1

5

1

6

k = { = , n ∈ N}
x

x

1

n3

D = { = , n ∈ N, n < 7
x

x

1

n

https://dl.doubtnut.com/l/_mqCss8wx9JF5
https://dl.doubtnut.com/l/_DwHf4HkBihJQ


C. 

D. 

Answer:

Watch Video Solution

D = { = , k = 1}
x2

X

1

k2

k = { = , n ∈ N}
x

x

1

n2

146.  , B=……………..

A. {0,1,3}

B. (7,0}

C. {0,3}

B = { + 3 = 6}
x2

x

https://dl.doubtnut.com/l/_DwHf4HkBihJQ
https://dl.doubtnut.com/l/_WSax8eeks6J8


D. {3}

Answer:

Watch Video Solution

147. A…………is a set with no elements in it.

A. infinite set

B. Finite set

C. null set

D. none

https://dl.doubtnut.com/l/_WSax8eeks6J8
https://dl.doubtnut.com/l/_lAAoVTlpjXGb


Answer:

Watch Video Solution

148. The null set is sometimes denoted

as……………..

A. empty set

B. void set

C. both A & B

D. none

https://dl.doubtnut.com/l/_lAAoVTlpjXGb
https://dl.doubtnut.com/l/_PikufE9mFro5


Answer:

Watch Video Solution

149. Empty set is denoted by……………

A. 

B. {0}

C. N

D. 

Answer:

{ϕ}

ϕ

https://dl.doubtnut.com/l/_PikufE9mFro5
https://dl.doubtnut.com/l/_ekQ3rd23vj9T


Watch Video Solution

150. {0} is a set contains the element……..

A. 0

B. 

C. 

D. none

Answer:

Watch Video Solution

ϕ

{ϕ}

https://dl.doubtnut.com/l/_ekQ3rd23vj9T
https://dl.doubtnut.com/l/_Flt7FlUZiDHf


151. A set with only are element is known

as…………….set.

A. Dobule

B. Singleton

C. Tri

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Flt7FlUZiDHf
https://dl.doubtnut.com/l/_IzCidBfg858X
https://dl.doubtnut.com/l/_8Oee33c1ej6b


152. Number of elements in a singleton set

is………

A. 0

B. 2

C. 7

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_8Oee33c1ej6b
https://dl.doubtnut.com/l/_rV4frOAZCurF


153. A = {  /x+4=4`} then A=…..

A. {4}

B. {0}

C. (0,4}

D. {0,7}

Answer:

Watch Video Solution

x

https://dl.doubtnut.com/l/_rV4frOAZCurF


154. B={ } is a

…………..set.

A. finite

B. infinite

C. singleton

D. empty

Answer:

Watch Video Solution

x /x ∈ N and x < 1000

https://dl.doubtnut.com/l/_Lo0ZK2SOTei4
https://dl.doubtnut.com/l/_EG7UJPsTEo3T


155. If in two sets A and B , every element if A is

in B and every element of B is in A. then we

write it as………..

A. 

B. AltB

C. A gtB

D. A = B

Answer:

Watch Video Solution

A ≠ B

https://dl.doubtnut.com/l/_EG7UJPsTEo3T
https://dl.doubtnut.com/l/_bbpxiqRYCw9d


156. A B means, set A and B do not contains

same elements. This is…………..

Watch Video Solution

≠

157. The number of elements in a set is

called………..of the set.

A. cardinal

B. ordinal

C. 1

https://dl.doubtnut.com/l/_bbpxiqRYCw9d
https://dl.doubtnut.com/l/_dCIzG6O4uTHM


D. all the above

Answer:

Watch Video Solution

158. IF B={1,7,2,0,6} then n(B)=……….

A. 7

B. 0

C. 6

D. 5

https://dl.doubtnut.com/l/_dCIzG6O4uTHM
https://dl.doubtnut.com/l/_H9Kb9mGHI8mh


Answer:

Watch Video Solution

159. IF every element of A is also an element of

B then we write this as………….

A. AltB

B. BltA

C. 

D. 

A ⊂ B

B ⊂ A

https://dl.doubtnut.com/l/_H9Kb9mGHI8mh
https://dl.doubtnut.com/l/_usQUCFShwckO


Answer:

Watch Video Solution

160. IF A={1,2,3} and B={1,2,3,4} then we say A is

a………………of B.

A. subset

B. superset

C. equal

D. none

https://dl.doubtnut.com/l/_usQUCFShwckO
https://dl.doubtnut.com/l/_Afd5FcwF1EOW


Answer:

Watch Video Solution

161. A is not a subset of B if A contains

………………….which is not in B.

A. equal

B. at least one element

C. 2

D. none

https://dl.doubtnut.com/l/_Afd5FcwF1EOW
https://dl.doubtnut.com/l/_jPLjQBrwXEMC


Answer:

Watch Video Solution

162. {  is a student of your school } is in

………………..form.

A. Roster

B. Singleton

C. at least one element

D. None

x /x

https://dl.doubtnut.com/l/_jPLjQBrwXEMC
https://dl.doubtnut.com/l/_jhOJuSS9rGWw


Answer:

Watch Video Solution

163. {2,4,6,8,10} is an example of…………….set.

A. finite

B. infinite

C. singleton

D. two

Answer:

https://dl.doubtnut.com/l/_jhOJuSS9rGWw
https://dl.doubtnut.com/l/_Wfr2OTvdDb4J


Watch Video Solution

164. {  is a natural number} is a……………..set.

A. finite

B. infinite

C. singleton

D. none

Answer:

Watch Video Solution

x /x

https://dl.doubtnut.com/l/_Wfr2OTvdDb4J
https://dl.doubtnut.com/l/_T2pb0A79Mwce


165. { } is a …………….set.

A. empty

B. infinite

C. singleton

D. none

Answer:

Watch Video Solution

x /x ≠ x

https://dl.doubtnut.com/l/_T2pb0A79Mwce
https://dl.doubtnut.com/l/_uhvx8wQ5g1ZN


166. A = {1, 2, 3}, B = {3, 4, 5} then  = .........

A. 3

B. {1,2}

C. {4,5}

D. {3}

Answer:

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_piNvlTe8uGNE


167. A={a,b,c},B={c,a,b} then……………..

A. 

B. A = B

C. 

D. none

Answer:

Watch Video Solution

A ≠ B

A ⊂ B

https://dl.doubtnut.com/l/_ilYJh1aF9LLT


168. A={1,2,7}, B={2,1} then…………

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

A ⊂ B

B ⊂ A

A = B

https://dl.doubtnut.com/l/_Eg8zq7ku9iYG


169. A  B then A-B=………..

A. 

B. B

C. A

D. 

Answer:

Watch Video Solution

⊂

⊂

ϕ

https://dl.doubtnut.com/l/_ldmP3HhLtAkw


170. A- =……………..

A. A

B. 

C. 

D. none

Answer:

Watch Video Solution

ϕ

ϕ

μ

https://dl.doubtnut.com/l/_Jek9ZhEZlOnL


171. =

A. 

B. 

C. A

D. A

Answer:

Watch Video Solution

A ∪ A

ϕ

μ

https://dl.doubtnut.com/l/_pbEqLvfkIw1A


172. =…….

A. A

B. 

C. 

D. none

Answer:

Watch Video Solution

μ

μ

ϕ

https://dl.doubtnut.com/l/_ulfcl0ZZ5AfR


173. A = {1, 2, 3}, B = {12, 0, 5} then A - B = ..........

A. B

B. A

C. {5}

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JFf1IsYXm8DQ


174.  = ......

A. A

B. B

C. 

D. 

Answer:

Watch Video Solution

A ∪ ϕ

ϕ

μ

https://dl.doubtnut.com/l/_oTXAWCZ4sCTo


175.  = ...........

A. B

B. A

C. 

D. 0

Answer:

Watch Video Solution

ϕ

μ

https://dl.doubtnut.com/l/_qDE3erphFn3c


176. {2, 6, 10} {8, 9, 11, 12, 13} = .........

A. {2}

B. {1,2}

C. {13,1}

D. 

Answer:

Watch Video Solution

∩

ϕ

https://dl.doubtnut.com/l/_QbUbeMbsnTbg


177. n(A)=4 then n(p(A))=…………

A. 12

B. 13

C. 15

D. 16

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ypSARdRfQufm


178. A-(A-B)=……….

A. 

B. 

C. 

D. B

Answer:

Watch Video Solution

A ∩ B

ϕ

A ∪ B

https://dl.doubtnut.com/l/_yHjqYXn8PnuN


179. (A')' =…..

A. A'

B. A

C. 

D. none

Answer:

Watch Video Solution

ϕ

https://dl.doubtnut.com/l/_Efxl0epVNhKF


180. IF A  B, then A-B=……………

A. 

B. B

C. A

D. 

Answer:

Watch Video Solution

⊂

μ

ϕ

https://dl.doubtnut.com/l/_jBSdIzpriHyk


181. IF A B then A  (B-A)=…………..

A. B

B. A

C. 

D. none

Answer:

Watch Video Solution

⊂ ∪

ϕ

https://dl.doubtnut.com/l/_glXy609PXMsg


182. W-{0}=………….

A. R

B. N

C. Z

D. Q

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_splElSUJo2uS


183.  అయి  అయిన

A. B = C

B. A= B

C. 

D. 

Answer:

Watch Video Solution

A ⊂ B B ⊂ C

C ⊂ A

A ⊂ C

https://dl.doubtnut.com/l/_UMXj7TomURzY


184. Cardinal number of null set is…………

A. 4

B. 

C. 0

D. none

Answer:

Watch Video Solution

ϕ

https://dl.doubtnut.com/l/_Cbad7lB3SZII


185. A'-B'=……

A. A-B'

B. A'-B

C. B-A

D. A-B

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_41qaevO5MjoZ


186. IF A={1,2,3}, B={3,4,5} then A  B=………..

A. {0}

B. {1,2}

C. {7}

D. none

Answer:

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_qeImJDwXFhrL


187. A= , B=  then A  B=………..

A. 

B. 

C. can't be determined

D. none

Answer:

Watch Video Solution

ϕ ϕ ∪

μ

ϕ

https://dl.doubtnut.com/l/_IRfaeRWmzQZM


188.  then  = ..........

A. 7

B. 9

C. 3

D. none

Answer:

Watch Video Solution

A ∩ B = ϕ n(A ∩ B)

https://dl.doubtnut.com/l/_LGfesknmfTFu


189.  then .........

A. A = B

B. 

C. 

D. 

Answer:

Watch Video Solution

A ∪ B = A ∩ B

A ! = B

A ⊂ B

B ⊂ C

https://dl.doubtnut.com/l/_eLh56DFF50Jm


190.  is called ….law.

A. Identity

B. Associative

C. Inverse

D. Complementary

Answer:

Watch Video Solution

μ = ϕ

https://dl.doubtnut.com/l/_DDfBRwcB2aHX


191. A'=B then A  B= ………………..

A. A

B. 

C. 

D. none

Answer:

Watch Video Solution

∪

μ

ϕ

https://dl.doubtnut.com/l/_xWqzqX9MWD9b


192. =………………

A. 

B. 

C. {0}

D. none

Answer:

Watch Video Solution

ϕΔϕ

μ

ϕ

https://dl.doubtnut.com/l/_WBaQq7V58d49


193. A  B = B  A is called……………..law.

A. idempotent

B. inverse

C. complete

D. identity

Answer:

Watch Video Solution

∪ ∪

https://dl.doubtnut.com/l/_arcoq2e32X8B


194. A  B=B if………….

A. 

B. 

C. A=B

D. none

Answer:

Watch Video Solution

∪

A ⊃ B

A ⊂ B

https://dl.doubtnut.com/l/_KnAsXJXIL3g8


195. A= ,B= , then A  B=……………….

A. {6,1}

B. {0}

C. 

D. 

Answer:

Watch Video Solution

ϕ ϕ ∩

μ

ϕ

https://dl.doubtnut.com/l/_kWUQR2FJVvhL


196. n(A)=10,n(B)=4,n(A B)=2 then n( )=

A. 11

B. 16

C. 10

D. 12

Answer:

Watch Video Solution

∩ A ∪ B

https://dl.doubtnut.com/l/_ePBXo6MAZ44A


197. '=…..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(A ∪ B)

A' ∩ B'

A' ∪ B

A' ∩ B

A ∩ B

https://dl.doubtnut.com/l/_GyfL3gZAEbix


198. =…..

A. 

B. 

C. (A-B)-C

D. none

Answer:

Watch Video Solution

(A − B) ∪ (A − C)

(A − B) ∪ C

(A − B) ∩ C

https://dl.doubtnut.com/l/_VKNS4yWQOJdG


199. n(A)=3 then number of proper subsets of

A is……………

A. 10

B. 9

C. 7

D. 8

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_2ZR1TIxug4xc
https://dl.doubtnut.com/l/_9j8Vg2iFrPjg


200. A  B=  then B  A= …………..

A. 

B. A

C. 

D. B

Answer:

Watch Video Solution

∩ ϕ ∩

μ

ϕ

201. =……A ∪ (B ∩ C)

https://dl.doubtnut.com/l/_9j8Vg2iFrPjg
https://dl.doubtnut.com/l/_IJCd4fFV1HFl


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

(A ∪ B) ∩ (A ∪ C)

(A ∩ C) ∪ (A ∩ C)

(A ∪ B) ∩ C

202. A={all primes less than 20} 

B={ all whole numbers less than 10} then

=…………A ∩ B

https://dl.doubtnut.com/l/_IJCd4fFV1HFl
https://dl.doubtnut.com/l/_3TI2VD726Q8E


A. {2,3,5,7,10}

B. {2,8,9}

C. {2,3,5,7}

D. {2,4,6}

Answer:

Watch Video Solution

203. n(A  B)=51, n(A)=20, n(A B)=13, then n

(B)=……………

∪ ∩

https://dl.doubtnut.com/l/_3TI2VD726Q8E
https://dl.doubtnut.com/l/_zYewo5Svd14N


A. 80

B. 44

C. 40

D. 39

Answer:

Watch Video Solution

204. The identity element under union of sets

of …..

https://dl.doubtnut.com/l/_zYewo5Svd14N
https://dl.doubtnut.com/l/_Wvoh57kL4VhR


A. 

B. {0}

C. 

D. none

Answer:

Watch Video Solution

μ

ϕ

205. = ……………

A. 

μ ∪ ϕ

ϕ

https://dl.doubtnut.com/l/_Wvoh57kL4VhR
https://dl.doubtnut.com/l/_yPbfeLVbqZo3


B. {0}

C. 

D. 

Answer:

Watch Video Solution

{ϕ}

μ

206.  

This Venn-diagram represents…….

https://dl.doubtnut.com/l/_yPbfeLVbqZo3
https://dl.doubtnut.com/l/_McpqI7dSUq3b


A. 

B. A-B

C. 

D. 

Answer:

Watch Video Solution

A ∩ B

A ∪ B

AΔB

207. =…..

A. Q

N ∩ W

https://dl.doubtnut.com/l/_McpqI7dSUq3b
https://dl.doubtnut.com/l/_OKforDZFTreZ


B. W

C. N

D. {0}

Answer:

Watch Video Solution

208. IF A and B are disjoint sets then n (A B)=

……………..

A. n(A)-n(B)

∪

https://dl.doubtnut.com/l/_OKforDZFTreZ
https://dl.doubtnut.com/l/_6qH211jjxTsP


B. n(A)+n(B)

C. 

D. none

Answer:

Watch Video Solution

n(A)

n(B)

https://dl.doubtnut.com/l/_6qH211jjxTsP


209. From the Venn diagram =…… 


A. {1,2,3}

B. {1,2,4,5}

C. {6,7,10}

D. none

A ∪ B

https://dl.doubtnut.com/l/_YnXKSmFgdFJg


Answer:

Watch Video Solution

210. Identity element under intersection of

sets is…..

A. {0}

B. 

C. 

D. none

μ

ϕ

https://dl.doubtnut.com/l/_YnXKSmFgdFJg
https://dl.doubtnut.com/l/_uqRW4uoF0A5P


Answer:

Watch Video Solution

211. Which of the following is true?

A. 

B. 

C. 

D. all

Answer:

A − B ≠ B − A

A ∪ ϕ = A'

μ' = μ

https://dl.doubtnut.com/l/_uqRW4uoF0A5P
https://dl.doubtnut.com/l/_2R0SdB3ayaaC


Watch Video Solution

212. A is the set of factors of 12. Which are of

the following is not a member of A?

A. 9

B. 10

C. 12

D. 5

Answer:

https://dl.doubtnut.com/l/_2R0SdB3ayaaC
https://dl.doubtnut.com/l/_EkSQYHXdSelt


Watch Video Solution

213. IF the number of proper subsets of a

given set is 31 then the set contains ……………………

elements.

A. 7

B. 6

C. 5

D. 10

Answer:

https://dl.doubtnut.com/l/_EkSQYHXdSelt
https://dl.doubtnut.com/l/_hqKjc4FY1nhb


Watch Video Solution

214. Write in the form of set? 

The collection of all months of a year

beginning with 'A'.

Watch Video Solution

215. Which of the following are sets? 

The collection of teachers in a school .

Watch Video Solution

https://dl.doubtnut.com/l/_hqKjc4FY1nhb
https://dl.doubtnut.com/l/_wzDzH2QjbhPY
https://dl.doubtnut.com/l/_lB1TmGLoKJOd


216. Which of the following are sets? 

The collection of first five square numbers.

Watch Video Solution

217. Which of the following are sets? 

The collection of talented boys in a class.

Watch Video Solution

https://dl.doubtnut.com/l/_saNl1EF1rK2Z
https://dl.doubtnut.com/l/_kVBiz02i0YqQ


218. Write the following sets in the set-builder

form. 

{3,6,9,12}

Watch Video Solution

219. Write the following sets in the Set-Builder

form. 

B = {2,4,8,16}

Watch Video Solution

https://dl.doubtnut.com/l/_9ZkBN8RLnaZG
https://dl.doubtnut.com/l/_Q5gWovPGZfWW
https://dl.doubtnut.com/l/_dTwlTdkzQXRG


220. Write the following sets in the Set-Builder

form. 

C = { 1,2,3,4,5,6,7}

Watch Video Solution

221. Write the following sets in the Set-Builder

form. 

D = {Sunday, Monday, Tuesday, Wednesday,

Thursday, Friday, Saturday}

Watch Video Solution

https://dl.doubtnut.com/l/_dTwlTdkzQXRG
https://dl.doubtnut.com/l/_YXMThlCjKiBy


222. If A = {1,2,3,4,5,6} ,B = {5,6,7,8,9} then find A-

B and B-A.

Watch Video Solution

223. If n(A)= 35 , n(B) = 20 and = 51

find 

Watch Video Solution

n(A ∪ B)

n(A ∩ B)

https://dl.doubtnut.com/l/_nZvFeZc3B1Vg
https://dl.doubtnut.com/l/_LO2fe8mjwyNU


224. Which of the following sets is finite or

infinite. 

A = {  and x>10}

Watch Video Solution

x : x ∈ N

225. Which of the following sets is finite or

infinite. 

B = {  and }

Watch Video Solution

x : x ∈ N x ≤ 8

https://dl.doubtnut.com/l/_nhUkFySxwrVC
https://dl.doubtnut.com/l/_d8VCNSIRLI2r
https://dl.doubtnut.com/l/_ZwRNWY90GyhK


226. Which of the following sets is finite or

infinite. 

C = 

Watch Video Solution

{14, 24, 34, 44, …. }

227. Which of the following sets is finite or

infinite. 

D = { x : x is a number multiples of 4 and 

}

Watch Video Solution

≤ 20

https://dl.doubtnut.com/l/_ZwRNWY90GyhK
https://dl.doubtnut.com/l/_98zC6MqakopO


228. If  and ,

then

A. 

B. A = B = C

C. B = C

D. 

Answer:

Watch Video Solution

A ∪ B = A ∪ C A ∩ B = A ∩ C

B ⊆ C

B ⊆ C ⊆ A

https://dl.doubtnut.com/l/_0rRxxOZWJszc
https://dl.doubtnut.com/l/_k9DdVIrsOKFd


229. The set formed the letter of the word

"SCHOOL" is…………..

A. {S,O,H}

B. {H,O,L}

C. {S,C,H}

D. {S,C,H,O,L}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_k9DdVIrsOKFd


230. Roster form is also called…………….. Form.

A. list

B. set

C. number

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5UppB8voDwWU


231. K = {  is a prime number less than 13}

list from of K is……

A. {5,7,11}

B. {2,3,5,7,11}

C. {1,3,5}

D. None

Answer:

Watch Video Solution

x /x

https://dl.doubtnut.com/l/_oUlByGkqbZOC
https://dl.doubtnut.com/l/_qbQhdvT61WOG


232. IF B={1,7,2,0,6} then n(B)=……….

A. 5

B. 6

C. 7

D. 9

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qbQhdvT61WOG


233. Roster form of the set of multiples of 5

which lie between 25 and 50 is…………

A. {60,70,80}

B. {20,30,45}

C. {30,35,40,45}

D. NOne

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_u1kHWnESn1va
https://dl.doubtnut.com/l/_bI8MaI1SlpOJ


234.  is……………….of the set of natural

numbers.

A. does not belong

B. belong

C. power

D. none

Answer:

Watch Video Solution

−4

https://dl.doubtnut.com/l/_bI8MaI1SlpOJ


235. Collection of five scholars in your city

is…………….

A. a set

B. not a set

C. can't be determined

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MTGP9syPbTqA
https://dl.doubtnut.com/l/_FkQK9fVMGIct


236. A={1,2,4}, B={3,5,6} then………..

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

A ∩ B = ϕ

A ∪ B = ϕ

A ∩ B = {3}

237. A  B then A-B=………..⊂

https://dl.doubtnut.com/l/_FkQK9fVMGIct
https://dl.doubtnut.com/l/_f5y3yqrNiMKX


A. 

B. B

C. A

D. 

Answer:

Watch Video Solution

⊂

ϕ

238. A  B=………

A. 

Δ

(A − B) ∪ (B − A)

https://dl.doubtnut.com/l/_f5y3yqrNiMKX
https://dl.doubtnut.com/l/_AWYg9NQXAxwJ


B. 

C. both A & B

D. A-B

Answer:

Watch Video Solution

(A ∩ B) − (B ∩ A)

239. A  B = B  A is called……………..law.

A. inverse

B. commutative

∪ ∪

https://dl.doubtnut.com/l/_AWYg9NQXAxwJ
https://dl.doubtnut.com/l/_YjbKwJHWN8jZ


C. identity

D. none

Answer:

Watch Video Solution

240.  then =……

A. 

B. A

C. 

A ∩ B = ϕ B ∩ A'

μ

ϕ

https://dl.doubtnut.com/l/_YjbKwJHWN8jZ
https://dl.doubtnut.com/l/_nrJ93lhVnraf


D. B

Answer:

Watch Video Solution

241. Which of the following represents A-B?

A. 

B. 

https://dl.doubtnut.com/l/_nrJ93lhVnraf
https://dl.doubtnut.com/l/_ek8i9ij6qgyX


C. 

D. all

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ek8i9ij6qgyX


242. The given Venn-diagram represents…..

A. 

B. A-B

C. B-A

D. all

AΔB

https://dl.doubtnut.com/l/_7tlSIsCgruvH


Answer:

Watch Video Solution

243. The intersection of set of rational number

and set of irrational numbers is …………………

A. real numbers

B. natural numbers

C. whole numbers

D. integers

https://dl.doubtnut.com/l/_7tlSIsCgruvH
https://dl.doubtnut.com/l/_4R2ia3IH8nYo


Answer:

Watch Video Solution

244. A = {0} B = {1,2,3,4,5} C ={1,5,6,7} then find

the A-C,C-B, , 

Watch Video Solution

A ∩ B A ∪ (B ∩ C)

245. If P = {  is a odd number less than 14}

Then list of P.

x /x

https://dl.doubtnut.com/l/_4R2ia3IH8nYo
https://dl.doubtnut.com/l/_qrjhHmFP68Qf
https://dl.doubtnut.com/l/_zfGa0BqjkM05


Watch Video Solution

246. If Z = {  is a months of year} Then list

of Z.

Watch Video Solution

x /x

247. If A = {1,2,3}, B= {4,5} Then =…..

A. {1,2,3}

B. {1,2,3,4,5}

C. 

A ∪ B

ϕ

https://dl.doubtnut.com/l/_zfGa0BqjkM05
https://dl.doubtnut.com/l/_kTIFdivBFxO8
https://dl.doubtnut.com/l/_dTeQXxN0O41P


D. {5,6}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dTeQXxN0O41P

